In vaccum all objects fall with

(A) same acceleration and heavy bodies reach ground first

(B) same acceleration and reach the ground at the same time

(C) different acceleration and reach the ground at different time

(D) different acceleration and heavy bodies reach ground first

(E) Answer not known

6T6VEVIT QIIMBETEHEHLD QeuMMIL&FH 6L aflWib CUIME

(A) WOH&5LD @CT I6eTalM&HeD. Blemm WGHSH QUTIHL&6T HemIenll (L &edlev
QMO

(B) W@ &5 @CF 6TeUT&H LD, 6TVEVIT QLIMIBL.&HEBLD GCT CHISH60 S
QMO

(©) WE&SLD QaaGaIMTHAD, QalaCam CHIEHH 6 Tl QS TH LD

(D) W& QeuslCaummseald, Blenm WGBS CLMTIBLG6T (N&H606L Hemn el
QMO

(E) allemL Qs flwelevemev

The time of reverberation of a hall can be decreased by

(A) having a number of loud speakers

(B) opening all windows and doors

(C) closing all windows and doors

(D) speaking loudly

(E) Answer not known

RO SMmMUileL BT WWES CHISMSEE GOMLUILSDHES
(A) 9185 eT6v0T60011 856008 U6V 6269 QILIIHESH &H6mr6T LILI6OTLI(H & &6VITLD
(B) eT6L6LIT 260T6TTEL &5556)FH606T FMIH G 6UE8 Cauetor(hILD
(C) 6TELELIT YEOTEITEL &G 6)FHED6IT ALY M6UGHE GaletoT(HLD.
(D) s5510M8 GUEF Gauevor(hLD

(E) allemL s flwelevemey

Which speatroscopy is used in chemical examination of interatellar space?

(A) Microwave Spectroscopy

(B) Infrared (IR) Spectroscopy

(C) Raman Spectroscopy

(D) NMR Spectroscopy

(E) Answer not known

aflevorQauerfluflesr GouH TMUIEFREG 6THS 3 emevlnmeneuuiluley LiweTLGSR MmSI.
(A) B1600T6OOTED 6V 606V LD Mem 6V UIILLIGY

(B) o1& el (IR) oemevinmemnsuuilley



(C) prnedr »emevLnmemeuuililey

(D) 911850 &MHS @655 T6 Senenmeneuiluie
(E) allemL s flwelevemev

The Indian Salt Petre is

(A) Ammonium nitrate (NH, NO3)
(B) Sodium nitrate (Na NOs)

(C) Potassium nitrate (KNO;)
(D) Calcium nitrate Ca (NOs).

(E) Answer not known

@HSH WedT Fmevl LTLL[J eTedTLIGI

(A) ojCwmesflub emBLGrL (NH, NO;)
(B) Gemqwid empLGL (Na NO;)
(©) QurlLm®wi empL Gl (KNOs)
(D) smev@A Wb emBLGrL Ca (NOs).
(E) eflevL Qs fluaievemney

The unit for equivalent conductivity is

(A) ohm cm™ (B) ohm cm= eq’
(C) ohm™" ecm?® eq-1 (D) S cm eq-1
FLOMET &5 Hmevfleir 26v&

(A) ohm cm-! (B) ohm* cm2eq’
(C) ohm™ cm? eq-1 (D) Scm=2eq-1

The main constituent of steel in India are
(A) Ni and Cu

(B) Mn and Cr

(C) Fe and Cu

(D) Tiand Cr

(E) Answer not known

@B W mellev 2 6Tem @@HLOLN6IT (LNE&GIW LNV LIQLITH6IT
(A) Bl&&6 nmmih STy

(B) nriiseta inmmid &GErmdlwil

(C) @@y wHoIDd STOITLD

(D) em_L_GLevflwiid tnmmild GCrmdlulib
(E) allemL s flwelevemey
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When did the Prime Minister of India inaugurate the country's longest rail-cum-road
bridge. built over the Brahmaputra river at Bogibeel near Dibrugarh in Assam?

(A) On November 25, 2018 (B) On December 25, 2018

(C) On December 10, 2018 (D) On November 10, 2018

(E) Answer not known

Nobwysrm Guwey 2 emem BITLIger e Heoor Juléh MHMID FTem6VE 8 TeoT
LMeLSem& enerumilel SN TI6g (& aveTem CLTESLTs eTedTm @)L&H 60 @) HS) Wl
Nrsog eLQUMWRS QS TLHIS MeUs ST ?

(A) meulbLIT 25, 2018 (B) 9&Fbuy 25, 2018

(C) ig&bury 10.2018 (D) meulbuy 10, 2018

(E) eflevL Qs fluelevemney

The end product of anaerobic respiration is

(A) Acetyl Co-A (B) Ethanol alchol
(C) Pyruvic acid (D) Succinic acid

(E) Answer not known

STHMILEVT FUMFSF6L @MIFUITH HenlL_&H&LIQLMNAIS

(A) 918 emLev Co-A (B) a5 60 oL60EHamImeL
(C) emumaN & 9)Lbleuld (D) 55560118 3jLdlevld
(E) allemL s flwelevemev

Golden rice is a genetically modified crop. Where the incorporated gene is meant for
biosynthesis of

(A) Vitamin A (B) Vitamin B

(C) Vitamin C (D) Vitamin D

(E) Answer not known

GmmeuLer A1 eredTLG @@ WIUsw wromiulL Ul &b, @Hev
RBEIR e HS L 2 uliflw Q&nle) s mers

(A) L SledT A (B) el L1AeT B

(D) efl_LAletT C (C) el L1flesT D

(E) allemL s flwelevemey

Most widely used bioweapon is

(A) Bacillus subtilis (B) Vibrio cholerae
(C) Bacillus anthracis (D) Escherichia coli
(E) Answer not known

e Ugeleums LiweTU®wn 2 ulfl ouusb

(A) GuB6VeVE FLIIg6VE0EN (B) elLiflIGWIT smevGry



(C) B LV BLTHST T 6 (D) stenv@ervflA W G&memev
(E) eflemL Qs flwelsvensy

11.  Among the following plants, which one has oil repelling property?
(A) Tobacco (B) Maize
(C) Hibiscus (D) Aloe Vera
(E) Answer not known
@QUMHMIET 6THG STeUTLD '6T600T G 6voT UllemenT elevE &L HM6T' 2_emL_ W GI?
(A) yemsulemev (B) n&&mE GFmerLh
(C) @gbLBGSS (D) smmmemnip
(E) eflevL Qs fluelevemney

12.  What happens in human Thalassemias?
1. reduce o - globin synthesis
2. reduce B - globin synthesis
3. enhance o and B - globin synthesis
(A) 1 alone correct (B) 2 alone correct
(C) 1 and are correct (D) 3 alone correct
(E) Answer not known
GG LAWIT GBITUI 2 6Tl TSHEHEHG 6Temal Hen L QLIS MSI?
1. o- &CermLier 2 Heaumaug Gemm&sLILGSR S
2. B-@&CemmUiledr 2 (haumeaugl GmmESLILGSR S
3. oMb B - GCemmLileT 2 (Haumausl 2H&f&sLILGI S
(A) 1 (b & (B) 2 bl @b &ifl
(©) 1 mmib 2 LG &ifl (D) 3 (G &if
(E) ellemL s flwelevemey

13. Which of the following plant boosts the production of red blood cells?
(A) Turmeric (B) Tulsi
(C) Lemon grass (D) Mustard
(E) Answer not known
L edTeumeusTeummlev 6Th& SMaUTD @THS FalliLiem 2 MLISS MUl STeoorl_ &

FolQUIgI?
(A) DEh&6T (B) s16m&
(C) eraiflg&10 L6v D) sb&

(E) ellemL s flwealevemev
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15.

16.

17.

Consider following statements

1. 21 June - - Summer solstices more radiation received by northern hemisphere
2. 23 September - Autumn equinox not equal radiation in both hemisphere

3. 22 December - Winter solstice more radiation received by southern hemisphere
Select the correct answer using the code given below :

(A)1and 2 (B)1and 3 (C)2and 3 (D)1,2and 3
(E) Answer not known

LY eTeu®Ld FonMmlemenr &([HEH 6L Q&T6TS -

1. 21 2O 60T - QUL G&HMeTs 3 60T 3FH & Lnmet GleullUBleney QUOMLILGSMS!.
2. 23 Q&FLILIDUT - IDMSLD SFLOLDITET 3ieTallél all LnMMID Q& 60T Si([H el HIsserflev
QauliLplemey @ @LILIG6Lem6.
3.22 QFLDUT - G6flT BTLEHFH 6L Q&6 SI[HEULD 3IH & QeuLlLIBlen6y
QUMK M.
FEC Q&M &&LIUL R eTer Gnluihsseflev @mba Fiflwmer aflemLenl CHTHASM) :
(A) 1 OmILD 2 (B) 1 wpmib 3 (C) 2 OoId 3 (D) 1, 2 HmIb 3

(E) eflev Qs flwailevemey

How many seismic zones grouped in India?

(A) 4 (B)5 ©6 (D)8
(E) Answer not known

@BHWmeller Liel 2F)[J6) L06TOTL_6VMHIS6T 618555 60)60T ?

(A) 4 (B)5 6 (D)8
(E) ellev Qsfluallevemnev

Sabarmathi river flowing states

(A) Madhya Pradesh Rajasthan and Gujarat
(B) Gujarat and Rajasthan

(C) Madhya Pradesh and Bihar

(D) Maharastra and Jharkand

(E) Answer not known

FUFLDGE) LM LITWLD LDMBI6VMHBI&ET eTemeu?

(A) bgHW NITEsELD, @TTREVSTET LDHMID GBI
(B) 2015 oo GTTegeng mer

(©) wsHW YVFCsFId MM LSBT

(D) &TrmeqlqIm IMmMmILD &8 e600TL

(E) ellevL Qsfluellevemney

With reference to black soil, consider the following statements :



18.

19.

1. It is generally clayey, deep and impermeable.

2. They swell and become sticky when wet and shrink when dried.

3. It retains the moisture for a very long time.

Which of the above statements is/are correct?

(A) 1 only (B) 1 and 2 only

(C) 3 only (D)1,2and 3

&S@HLIL| LD60T QSTLILUMS, B Q&ETHSHLILLL QSMTGLIL &6 (6] QFUIS%:
1. QUITEIEUTE &H6rflnetor HeTemln, QyoLnmet MmID BT LSS LT SHeoTemin
Q& ITEOOTL_Gl.

2. FL0EML WD QUTWS 2 L1L6VTSHE|LD, 2 0B QUITWS &@GEIG WL
&mevorLILI(bLD.

3. FJ& SeTemlneml [HeooTL. HTVSEH MG 588 06USH SIS Q& TETEHLD.

GG Q&EMTHHSHLILILL Q5TE&GLILN6 675/ eTemal@UicLeVTLD &iflwmeTeneu?
(A) 1 LD (B) 1 opmib 2 oL (hILd

(C©) 3wL@W (D) 1,2 oHayid 3

Different types of vegetation is found in different parts of India - due to
(A) Topography

(B) Unequal distribution of Rainfall and Temperature

(C) Soil

(D) Temperature and soil

(E) Answer not known

LI6LGeUmI 6U6em & UITEOT &ITeUTHBIG6T. @ HS W meler LeGeum LiGH serfley
S|60)L0TH SIGTETEMLN &G &5ITT600TLD

(A) @L ojeminey

(B) QauLiumlemev nmmid wenpl1QuUmEelleT FLoWmm LITelev

(C) weovor

(D) @euliLmlemey LDMMILD LO6TOT

(E) ellevL Qsfluellevemney

Creamy layer concept was first introduced in the case of
(A) Lakshmikant Sukla Vs State of Uttar Pradesh

(B) Indra Sawhney Vs Union of India

(C) K.K. Roy Vs State of Tripura

(E) Jitender Kumar Vs State of Uttar Pradesh

(E) Answer not known

"QFWeD SH &R 6T 6TID HIHS S TS (NS0T (NG6N6L SIMWSILBGSSLILL L

OIIE:AG)



20.

21.

22,

(A) v &ll&THE saeur VS 2 R 7 NrCss oius
(B) @bsrmasmet] Vs @bS W W, 6ol esr

(O K.K. gmu1 Vs S iflygm oyye

(D) 1565 HsT GWMY Vs 2 SETLINTCHE 2Tsr
(E) eflevL Qs flueievemney

Agricultural crop insurance was introduced by Government of India in

(A) 1986 (B) 1984 (©) 1985 (D) 1989

(E) Answer not known

afleugmw LWy sTULSER wenmenl @HH W SITEFTHISGLD Q& Meor(h eUbS 3i,600T(H
6T&?

(A) 1986 (B) 1984 (C) 1985 (D) 1989

(E) allemL s flwelevemey

Golden Quadrilateral distance between Chennai and Kolkatta is

(A) 1684 Km (B) 1453 Km (C) 1290 Km (D) 1419 Km
(E) Answer not known

QFTENET- Q&HMTVHS ST @60 CUIWITET &HI& BMTMHEHTEF FTemnevuieT SMTLD
IO

(A) 1684 Km (B) 1453 Km (C) 1290 Km (D) 1419 Km
(E) allemL s flwelevemey

Which of the following statements about the first amendment to the constitution is are

true?

I. The first amendment was enacted in 1952.

II. The first amendment was enacted before the first general elections.
III. It was enacted by the provisional parliament.

(A) I and II are true (B) II and III are true
(C) I and III are true (D) I, IT and III are true
(E) Answer not known

WH HBHHHF FL LSS LMW eumsSH W mkigGefle) eTemal/6rgl

D _600T60LO WL TE0T60I6U ?

I. Ws6L HHEHHF FLL LD 1952 60 @UIMHMUILILL &I.

II. W56 BBHHF FLLID (NS560 QLTS CHTSHNEG (D6TL] @UIMMLUILILL SI.
III. @& 5MH&TE0& LIMTTTEBL6TmESTe @UIMMLUILILL G.

(A) I nmomud II &ifl (B) II ooyt III &ifl

(O I nmoyid III &ifl (D) L II inhoyib IIT &yl
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24.

25.

26.

(E) allemL Qs flwelevemev

Which one of the stages of Man's progress is not properly Matched?

(A) Primitive food collecting stage - Stone Age

(B) Advance food collecting stage - Mesolitic Age
(C) Food production stage - Chalcolitic Age
(D) Urbanisation - Bronze Age

(E) Answer not known
FLDG&MeILD 6THS D61 auemFFS Liflinmesorid Fiflwims QUMBEHSLILLel60emen?

(A) YetrsmBIG W 2_coTey CFssIflahEGLD Hlemev - &HMH&HTVLD

(B) wrettGeormlwl 2_emor6) C&F&Ifl&GLD Blemey - @6mL HMEMeVLD
(C) 2_svorey WM& GLD Blemev - FrE5HH & SHmevld
(D) B&IOWILNTE G 6V - Q6UEDITEH 6V &ITEVLD

(E) eflem L Qs 1flwieilsvemev

The most outstanding Buddhist writer in Sanskrit was

(A) Kalidasa (B) Asvaghosa
(C) Bharavi (D) Kumaradasa
(E) Answer not known

FLNEBSHSHTH L Db elleThmIS W LSS 1SS

(A) sreflsmer (B) ojehveuBas ey
(O) umgedl (D) urgsney
(E) eflem_ Qs 1flwieilsvemev

Arrange in chronological order :

1. Battle of Chausa 2. Death of Babar
3. Battle of Kanaoj 4. Death of Akbar
(A) 1-2-3-4 (B) 4-3-2-1 (C) 2-1-3-4 (D) 3-1-2-4

(E) Answer not known
B LD G 600TL_60)6U G606 STeV aUiflensFLILI(h &S 5:

1. QF6eT&Fm GUMTIESHETLD 2. Lmuifledr LoFevorLd
3. H60TGETTY GLIMTIE&HETLD 4. 9|8 LIfledT L0JeuuTLd
(A) 1-2-3-4 (B) 4-3-2-1 (C) 2-1-3-4 (D) 3-1-2-4

(E) allev Qsrflueilsvemev

1. Ram Mohan Roy accepted the concept of God propounded by the Upanishads.
2. Swami Dayananda accepted the Western ideas.
3. The social reform leaders fought for the problems of women and depressed classes
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4. 1918 the form for Brahminicial organisation South, Division liberal federation was
started

(A) 1, 2, 3 are correct 4 only not correct

(B) 1, 3, 4 are correct 2 only not correct

(O 1, 2, 3, 4 are correct

(D) 2, 3, 4 are correct 1 is not correct

(E) Answer not known

1. LD GLOM&60T Il 2 LIBl6Qg &5 6r aulll &L 66T Q& meTem & enll M mId

Q& ITEUOT LT

2. Gaumll HUWMETHS FFerveud GLMSST U & [H S0 6T 6UTHS M5

MM STE00TLITIT.

3. FeNS FIHHS S THH6T QLIGTT 3{Iq6MLD IDMMID STPSSLILILCLTT HeVe& S
UM UL L 60Ty

4.1918 6V LNgmesoTy eTHILIL @UISGLOMTN QG eTeotHH U 69 (H)1&H6em6ev S emLnLIL]

2 (HEUMGHSHLD QUMM

(A) 1, 2,3 D@L &l 4 Heum

(B) 1, 3, 4 &0, 2 sauy

O 1, 2,3, 40

(D) 2, 3, 4 &, 1 auy

(E) aflemL Qs iflwelevenev

Which of the following facts are true regarding the commercialisation agriculture
under British rule?

1. Money lending and exploitation of Poor peasants

2. Scarcity of food

3. Increase the demand of cash crops

4. Commerecial agriculture went in bankruptcy

(A) 1is true, 2, 3, 4 false

(B) 2, 3, 4 are true 1 is false

(C) all are false statements

(D) 1, 2, 3, 4 statements are true

SBEITH e 9L A Uull6L elleusmuild a6l IWD QLeTCLMS gMLIL L 66meTe 8606
LMW FoMHMIGH6fl6V 6TEI 2_600T60)L0 U TEOTSI ?

1. QLI ESTTISH6T &L9.UlleoTeuFdHem e & Jevor(h &6V

2. 2 ooTeYSSL_(HILILT(H)

3. Ueoor 1wy Gxemed AH &1L

4. UesorLILufi eueoofl& 1D Heumeum@ g ev

(A) 1 (b &1l 2, 3, 4 &1fl 96L6v
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29.

30.

(B) 2, 3, 4 &1l 1 &1 sy6v6v
(C) simens sl Heaummea
(D) oiemenrsin Fiflulmersl
(E) allemL Qs flwailsvemnsy

Name the famous dancer who crowned as ‘Kathak king of India’?

(A) Prem Chand (B) Sambhu Maharaj

(C) Thyagarajar (D) Fate Singh

(E) Answer not known

'@BHH TN 6T 558 HL 60T TF60T' 6T60T eMLPEHSHLILIHLD [HL_60TE 8560160 (6H 60T GILIWIF
(A) YCTLhEHS (B) by Wn&TyTRMm

©) wunsyTer (D) Gug Fm

(E) allemL Qs flielevemey

Which among the given facts became the primary reason for the leave of E.V.
Ramaswami from Indian National Congress?

(A) conflict with M.K. Gandhi

(B) crisis in Seranmahadevi charity training centre

(C) congress ideology

(D) communal disparity in Congress

(E) Answer not known

F.Gau. @umwerd @bHw CHFAW STHRIBTF O mHbHE QeusflCumeEHNES
G LDEUTHSI6TEIT &ITIT600T IS 6I16V (LD G5 60T6MLOLITETS 6TSH1?

(A) GL0IT.&. STHS U L60TIT6uT (LD IFevor LM

(B) GaparnasmCsall GHE&e LWIMHE ennuwsH 6w BlHDHS F 8560

(C) smrmSRFH 6T &[Hs S UV

(D) smmSrHev Fens alSHWTEFLD

(E) ellev Qsfluallsvemnev

Which strengthened the National Movement?

(A) Europeanisation (B) Marxian theory

(C) Religious faith (D) Secular ideology

(E) Answer not known

CHFAW QUSGHSHMS QNLIGLMNT QFUISSI 61517

(A) CrTUWIWIDMTE6L (B) LMI&AW Q&MeTen 8.

(C) oW BG5S (D) ns&EmTiUmM &1HS S U6V
(E) allemL s flwelevemey
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32.

33-

The financial control exercised by the Parliament over the executive through
(A) The comptroller and Auditing General of India

(B) The Auditor General

(C) The Finance Secretary

(D) The Accountant General

(E) Answer not known

@QBSHW UTITEBLETML QFWTLET e g Sertsl  BISHFTIHS
SLOUUTLML QFsSSID @6l aulblCul QL& LD.

(A) @QBH W FH6m6VEDILD S600TE G LD MHMILD &600115H6M8 D eVI6U6VT

(B) @b W Heofl&60n8 &6m6v6UT

(C) p®Saiemm Q&Fwevrery

(D) 6m6v6mLD 8560018 (& 3| VIGU6VIT

(E) allev Qs flueilsvemev

The Comptroller and Auditor General is appointed by The President of India under
which Article

(A) Article 162 (B) Article 148 (C) Article 153 (D) Article 174
(E) Answer not known

@B U &e6eVeMLNG & 600T186m 8 W TeTenT 6THS NG UIN6IT LI GG WIS SHemevedd
BIWLD6TLD QEWSHMmTH?

(A) el 162 (B) efl%) 148 (O) %) 153 (D) &) 174

(E) allev Qs fluellsvemey

Consider the following statements:

1. Article 308 to 314 of the constitution with regard to the All India services.
2. Article 308 exclusively apply to the Jammu and Kashmir.

3. The Parliament has enacted the All India Services Act in 1952.

4. Article 312 empowers the Parliament to create new All India Services
Choose the correct answer :

(A)1and 4 (B) 2 only (C) 4 only (D) 4 and 3
(E) Answer not known

eI UTEH WSS &HSIG :

1. 2 mili] 308 Ws6L 314 auenTWilevmerT TFenoLiL] FLU LD S&6ev @HSH W Lieoot1& 6T
um oS M

2.2 ML 308 wmHmMlswid 8w SHTaqLST elelssITTEIS Eh 85Tl

3. LIMFMEBL06TMLID &6V @ HSH W Licool1&56T &L L Gens 1952 4D 34,6007 (H
Quomluig.
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35-

36.

4.2 milI] 312 UMITERL6TMESEHMES LIS & 6v @ HS W Lieooflemil 2 (HeUTE&
B &MTD efleERHmal.

Frfliumer aflemLenw CHIHOSHH &5.

(A) 1 OYID (B) 2 L (BLd (©) 4L (D) 4 OO 3
(E) eflem Qsflwailsvemnesv

Article was inserted into the constitution under the 734 Constitutional
Amendment.
(A) 245 B (B) 244 B (C) 243 B (D) 242 B

(E) Answer not known

ATRWeL FmFer G 736U8 ATFWEL HHESHF FLLGH M6V

ATRWevemnnl196v GFF&HGELIL
(A)245B (B) 244 B (C)243B (D) 242 B
(E) ellemL @5 iflwelsvemev

Who among the following was the Cabinet Minister without portfolio?
(A) C. Rajagopalachari

(B) T. T. Krishnamachari

(C) N. Gopalaswami Ayyangar

(D) G. L. Nanda

(E) Answer not known

GLDAIIBLIGITSHEB6T WITH @6VTEHIT @6V6VTSH L0GSH W eMDFFTTRII6UT?
(A) C. prgGasmumeun&&mifl

(B) T.T. @ (peqeoornmg & iyl

(C) N. Gammumeva sl QUIMmkISTT

(D) G.L.zB&mT

(E) allev Qs rfluellsvemev

Which one of the following statement is not with regard to powers of the Parliament?
(A) Parliament can approve three types of emergency provisions

(B) It cannot abolish State Legislative Council

(C) It can alter boundaries of the states

(D) It can establish a common High Court for two or more states

(E) Answer not known

IHITLTEBLOET M & FH 60T P& TTBIGET QGTLITLIMS LleTelHLialeTelMmMle) eTemeal
Frflueven?

(A) BITLMTEBLOETMLD eLpeiTml e SLDMeT SeUFT Blemeull LNTsL60T5 65

SIWILDG &G 6VITLD
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38.

39-

(B) BTLMEBL06TMLD DMBlev &L L GLnevenelsml B8 (LIgUIMS

(C) nrBlevmigserfledT 6T6LEMEVEEMET LOMMM (LOLYUILD

(D) @® 2 WiBHIWeaTmSmns I6iorh H6V6VS SSMHES CMLILL DT BlEVHI&HEH S
FgOUBSSHEVITLD

(E) eflem Qsflwailsvemnesv

Jallikattu, the bull taming sport of Tamil culture and tradition is protected according
to article of the Constitution of India

(A) 29 (1) (B) 39 (1) (C) 49 (1) (D) 59 (1)

(E) Answer not known

VL& (H), gMHWeasH) aleaemwiml (G ererm SWOKFler SHeumdsmy mmID

UeootUmM® @bHW  SpFenLliliesr alGufledr U  UTSISTLIL
SeflaaLIuUL (hleTengl.
(A) 29 (1) (B) 39 (1) (C) 49 (1) (D) 59 (1)

(E) ellem Qsflwailsvemesv

Who headed provincial constitution committee of constituent assembly?

(A) J.B. Kirpalani (B) H.C. Mukherjee

(C) A.V. Thakkar (D) Sardar Vallabai Patel

(E) Answer not known

TR WevenoliL] BlFeoorwl FemLiuler LNFmHH W THwevemioliL] sl 1qudleor
HMELEUTTH @ (HIHEHEUT WIT ?

(A) J.B. ®gumevent] (B) H.C. w&rg

(CO) AV. r&ar (D) #5smy eueveuLImUl LILGL6V

(E) ellev Qsfluallsvemnev

Who among the following was not a member of Drafting committee?
(A) K.M. Munshi

(B) Alladi Krishnaswamy Ayyar

(C) Pattabhi Sitaramayya

(D) Krishnamachari

(E) Answer not known

GLp s 600 UMMy 6Tl auemTeays Gwelley 2 milileryms @L LD Qumelcvemnen?
(A) K.M. wher&

(B) oy6veurTlq S(H6q 0T LAl Uiy

O ulLm A gsrymnuwium

(D) & @meqevoromamif]

(E) ellev Qsfluellsvemney



40.

41.

42.

I. The constitution is a source of, and not an exercise of, legislative power;
II. Constitution springs from a belief in limited Government.

Which of the statements given above is / are correct?

(A) I only (B) IT only

(C) BothIandII (D) Neither I nor II

I SiIr&QwevemnliL|E SFLL LD 6TedT LG &FL L LDETMHBIGETTV 2 (HeUT&H & LIL(H6USH06V;
LOMMTSH SJLDLO6OT MG EHEHTET &M CLAGVLD & LD

II. eugesTem ML S SLILIL L FTFTHIGLD 6T60TLIGH60T LG M60T B &5 6em &
STFWeenDLILE FLLEHOGHECSH WSS WH DS

GLM&HET0TL T M MG G616V 678 & f| W TeoTSI?

A) I bL®GEw

(B) II bR GLo

(©) I npoid IT @revor( b FiflGuw

(D) I mmoid II @resor(h G Fiflulcvev

Which committee was appointed in 1986 to deal with 'Revitalisation of Panchayat Raj
institutions for democracy and development'?

(A) Ashok Mehta Committee

(B) G.V.K. Rao committee.

(C) L.M. Singhvi committee

(D) Santhanam committee

198610  9eooTIq6y, 'WOSGSHETTLE Wwmmild  CUWLUTLIQM&STS LUEHFTUSS
B MIGU6ETHIG 66T LSSIUNTLIGES" AemnsELLLL G eT5I?

(A) 9168 CLGHHT GW

(B) £.69.C5. ymed G W

(C) er6v.6110. FimIN & WD

(D) BsMerd Gw

(E) aflemL Qs iflwiefevenev

Match List 1 with List 2 and select the correst. answer using the aodes given below lists

ListI List IT
Event Year
(a) Special Economic zones policy 1. 1991
(b) New Foreign Trade policy 2. 2000
(C) Goods and services Tax act 3.2015

(d) Narashimham Committee Report 4. 2017



QUITBHSIS LILIQUI6 1 I0MMID 2 el QUTHSSH SC QamH &&LILIL (Hl6Ter
Frflwumer aflemLenw CHI6| QFUISH

UL IQUI6v 1 UL Q6L 2
Bl&L06Y 24,600 (D)
(a) LI QUITIHETITSIT LD6TL 6V Q& M6t & 1. 1991

(b) Us W LetTETTL(h 6u et ILI Q&5 MTeTem & 2.2000
(c) Qum@eT LmmMILD Leooll euifld &L LD 3. 2015
(d) &b sl g 4. 2017

@ ® © (@@
A) 2 3 4
(B) 2 4 1
©) 4 2 3
(D) 4 3 2
(E) eflev L s flualevemney

R Q) e

43. The father of Green Revolution in India was
(A) M..S. Swaminathan
(B) Gandhi
(C) Visweswaraiah
(D) N.R. Viswanathan
@B Wmeller Lisremin LTL AU SHems 6T60T empdaLILIL el wimy?
(A) M.S.&-aumd s 6o
(B) &M1&
(C) eflerv@eusveurmuiulm
(D) N.R.aflerveurmmg et

44. Which one of the following is the source of direct tax?
(A) gift tax (B) customs duty
(C) excise duty (D) service tax
(E) Answer not known
ECL QBTH&SLILIL(H6TeT @ 6ormigertle 6Tgl GBS alifleml FMHSSI?
(A) oyeoruerfliiy eurfl (B) &miss eurfl
(C) 2.musH) euifl (D) Gremau auifl
(E) ellemL s flwelevemev

45. The sum of the deficit under Revenue account and deficit under capital account is
(A) budgetary deficit
(B) primary deficit



46.

47.

48.

(C) fiscal deficit

(D) revenue deficit

BLLIL|& 5600T&E LIMMITEEG60M60UIU|LD eLN6V S 60T &600TE @G LI LIMMITE 60 M 60 WU LD
Fal lq e LILIG

(A) BIGBleney 9M&E & LIMMITEEGnM

(B) \rs6tTemin LIMMITE &6emnm

(O) BI®L UHDTEGEOM

(D) au@@eurtul LIMHMITE G emnm

The process of removal or relaxation of Governmental restrictions in all stages in
Industry is known as

(A) Privatisation (B) Liberalisation

(C) Globalisation (D) Disinvestment

(E) Answer not known

Q&ML EIM BL I &MSHSH6T 6 TF 6T &L HILMTH &HMET H6TTHSI0NSH 3 6V6V S
WHMIVITE 6960855 QE&METEHLD (MMM

(A) sesflWMy LWLDT&HSLD (B) srymer LDWLDM& &0

(C) 2_6v5 LLWIDMTESHLD (D) eLpev s 6ot eflevd 860

(E) eflem_ Qs 1flwieilsuemev

With reference to the Kural development in India, consider the following statements :
I. Poverty alleviation and welfare of the people

I1. The process of urbianisation in rural areas

Which of the statements given above is/are correct?

(A) I only (B) IT only

(C) Both I and II (D) Neither I nor II

(E) Answer not known

GTTOLM WeTCTMMNLD, @HEHUIMELD 6T6TLISI. HLP&600TL QTSR UISH 6V TonMIss:
I. cumiemin eElLILD, STTLOLM D& &616T HeiTemnLnu|Ld

II. | T MBS 6T HHTMUINTHGSMNEHS aldlalans Q&g

Fflumer aIMsRHWSnsS CHIHOSMH:

(A)I b (A) II b_(H1d

O LIl (D) I, II @pevor(h GLD @)6L6BI6V

Which of the following is/are eligible for "Kisan credit card"?
I.All the farmers II.Share croppers  III. Tenanta
Select the correct answer using the code given belaw :

(A) I only (B)Iand II



49.

50.

(C) II and III (D) LII and III

"SR erumedT &L6T L6l " BB QE&EMTH&SLILL(BH6T6T FLIHESE WTIHEHGS
5G&H WL WG

I. siemeots & elleuamuiser

II. LW R CeUMT LBIGSTTT

IIl. &55m&5TTT

G LG0T euMMI6V 6T&l pedTmI &FiflulmeoTasl:

(A) I L@ (B) I nmoyin 11

(C) IT oMot III (D) L IT o ouid 1T

(E) allemL Qs flwailsvemnesn

Match the following

(a) Kol uprising 1. Bhaalpur

(b) Santhal uprising 2. Orissa

(c) Khonds uprising 3. Assam

(d) Ahoms uprising 4. Chotanagpur
GG HETLaIMemM QUITHS SIS :

(a) GmMeL T &S 1. UmeLLILLIy

(b) s meL TRFR 2. epiflerverurm

(c) Gamevor(h &H6IT 6T(REFF 3. 9|6MV6NITLD

(d) @1GamMIh&6T 6T & 4. GFMLLIT BM&LLY

@ b ©© @ @
A 4 1 2 3
(B) 3 2 1 4
© 1 3 2 4
(D) 2 3 4 1
(E) allemL Qs iflwielcvemnev

Which decision of Gandhiji was opposed by Ambedkar?

(A) Partition India

(B) Calling lower castes

(C) Satyagraha Movement

(D) Non-co-operation Movement

6HS &HMSSH Wgalley STHHEHGSGWLD DCUSHTHEGID @emLuley
gouLlLg?

(A) @B w Liflelleneor

(B) &mpsHSUIULGLTT

TH UL



51.

52.

(O) 5 WUMTHTH @UIGHEHLD
(D) @5 s1empulmenin @ uldhssI0
(E) eflemL Qs flweNsuemey

Arrange the following in chronological order.
1. Communal award
2. Nehru Report
3. Gandhi Irwin Pact
4. Visit of Simon Commission
L edTeuneusTeumenm SmevalflengFLiLlg oH &G 6:
1. UGLILS Q&ML .
2. G 3N &Hn&H
3. &MHS @Feler eULbBSLD
4. OFLO6T G (LD UHNFH

@ b ©© @ @
A) 4 1 2
B) 4 2 3
© 1 3 2
(D) 2 3 4
(E) allemL Qs iflwielcvemev

N e W

Match the following connected with the year of Acts
1. Introduction of communal representation

2. Right of discussing Budget

3. Separation of Burma

4. August Declaration

LN6tTeUBLD 24,600T(H &FL_L_MiIG 606D QG TLITL|6TT [Bl8LD6) & en6TU D )60 600TE: 5

1. aagligaurfl Nip@m&ssiaih omlepsb
2. BB Blemev &Gl elleumH&es 2 [flenin
3. ugwm N&& UG S0
4. 356 H AMEns

@ G @ (@@
A) 4 1 2
B) 3 4 1
©) 1 3 2
(D) 2 3 4
(E) allemL Qs iflwielsvemev

H AN W

1.1935
2.1919
3.1909
4.1892

1. 1935
2.1919
3- 1909
4.1892



53:

54.

55-

56.

The sequence in which the given terms are mentioned in the preamble to the
constitution of India is:

(A) Sovereign, Socialist, Secular, Democratic, Republic

(B) Socialist, Secular, Sovereign, Democratic, Republic

(C) Secular, Sovereign, Democratic, Socialist, Republic

(D) Sovereign, Democratic, Secular, Socialist, Republic

(E) Answer not known

ATFWevemnnl1LNev WrssLiLjemgullev GMILLIL LU (R 6Tem Q& meTen & as6rfledr & iflwimeor
alflens:

(A) @emmwimetoTemLn, FLOGTOW, FOWSFTTUMM, IDSG&HETTLF, GIQUWTLS
(B) Fs O, FLWSFETTLUMDHM, @6MMUITETenLD, I0&S&HTTLS, G uTLS
(C) sLwETIUMM,S)6M MW TETITENLD, D&H&HETTLS, FIOGTOWM, GQWTL S
(D) @emmuwimeooTemin, LD&&HETTL G, FIDWFTFLUMM, FIOSTLOWM, GIQWTL S
(E) eflem L Qs 1flwieilsvemev

In a right triangular ground, the sides adjacent to the right angle are 50 m and 80 m.
Find the cost of cementing the ground at Rs.5/sq.m

(A)¥ 20,000 (B)¥ 15,000 (C)¥10,000 (D)¥ 12,500

(E) Answer not known

@®m el HSHL QFBIGHTemT (N&HGHTeTD  allgelléd 2 6Tergl.
QFBIGHTOSHMSGSH SHMTHIGD LSHEHMEET 5015, 8o HLedlev FQWeor. LF FHIT
BSL LGS .5 ef50 &L QLTSS QFeVen6ld: & Teor.

(A) e.20,000 (B) em.15,000 (©) em.10,000 (D) em.12,500

(E) allemL Qs flwelevemev

The average of 5 numbers is 180. If one of the numbers is removed then the average
becomes 155. Find the removed number?

(A) 240 (B) 280 (C) 320 (D) 360

(E) Answer not known

5 eTevorgserflev FrmaFfl 180 aumnilev e eTevoTem 60T HEHGH eOTT6L FIMEIf] 155 6T6or
TS M eTeoflev BoH&LILILL

(A) 240 (B) 280 (C) 320 (D) 360

(E) eflem L Qs flweilsvemev

A person crosses 600 m long street in 5 minute. What is his speed in km per hour.
(A) 3.6 (B) 7.2 (©) 84 (D) 10
(E) Answer not known



57

58.

59.

60.

@@ BT 600 ST Bemupeer sp(h Q& Hemed 5 BIALmigGe6flev &LERMTT 6T6vfl6L
3jaurfler Gausmsgeng &).15/ nevofluflev

(A) 3.6 (B)7.2 (©) 84 (D)10

(E) allemL s flwelevemey

A man travelled 2/11 of his journey by coach, 17/22 by rail and walked the remaining 1
km. How far did he go?

(A) 22 km (B) 20 km (C) 33km (D) 27 km

(E) Answer not known

RMEUT ST LIL6OT STTSHH 0 2/11 Lillend CHMEFS aleoriquieyld 17/22 LiKIenS
Tulev euevoriquUIaLD, LIS Lp6TeT 1 BBVMSL LT BLBSID HLEBMTT 6T60fl6v LiIUlevor
SITTLD 6T60T60T?

(A) 22 &.18 (B) 20 ®.15 (C) 33 ®.18 (D) 27 ®.18

(E) eflevL Qs fluaievemney

A ramp for unloading a moving truck has an angle of elevation of 30°. If the top of the
ramp is 0.9 m above the ground level then find the length of the ramp.

(A)2m (B)1.5m (C)1.8m (D) 1.6m

(E) Answer not known

@ Frenln 26T HUINEIBH S Fennenll @ME:s glalTd 30° gMme CaHMerordH 6L (b
Fruleys SeTld 2_6TeTgl. FMUle] HeMEHH 6 2 F&, HmTuiledmbal 0.9 1§ 2 WrsHHev

o _6iTeNgl 6Tevflev, FMUIE S5 6THS 60T HeTd Wimg?

(A) 218 (B) 1.5 18 (C)1.819 (D) 1.6 19

(E) allemL s flwelevemey

The standard deviation of 10 values is 3. If each value in increase by 4. Find the variance
of the new set of value.

(A) 30 (B) 12 ©o (D) V3

10 H LI G6fler S L eleus D 3. ReIQaIMH G LILL D 488 ol L Sl & @G0
UHW S LaNevs:eHs 3 6r ellevsss aufss Frmail wms?

(A) 30 (B) 12 ©o9 (D) V3

(E) ellemL s flwelevemev

Find the next term of this sequence 11, 13, 17, 19, 23,
(A) 25 (B) 27 © 29 (D) 31
(E) Answer not known



61.

62.

63.

64.

11, 13, 17, 19, 23, 66T QSTLT auiflenauiley 9H GG euHLD 2 mILIL] eT&I?
(A) 25 (B) 27 (O 29 (D) 31
(E) eflemL Qs lweflevsmey

Find the mean of 2, 4, 6, 8, 10, 12, 14, 16.

(A) 10 B)o (C) 12 (D) 14
(E) Answer not known

Fal_Q&Fgraf] smeoreb. 2, 4, 6, 8, 10, 12, 14, 16.

(A) 10 (B)o (012 (D) 14
(E) allemL s flwelevemey

Shyam’s monthly income is ¥12,000. He saves ¥ 1200 find the percent of his savings
and his expenditure.

(A) 10%, 80% (B) 10%, 90% (C) 80%, 10% (D) 90%, 10%

(E) Answer not known

w6 LDM& QUBLOMETLD €. 12,000 Sjauf CFLI& @D QS Tend €h. 1200 |6 ifler
G lllIL QFae| SR WIMHMET &567556M8 8 55Te00T5.

(A) 10%, 80% (B) 10%, 90% (C) 80%, 10% (D) 90%, 10%

(E) allemL s flwelevemey

Due to increase of 30% in the price of a colour TV the sale is reduced by 40%. What
will be the percentage change in income?S

(A) 10% increase (B) 10% decrease

(C) 35% decrease (D) 22% decrease

(E) Answer not known

& ([H 6U600T600T QHTEMEVSTL T QUL 1quiler ellemevuiley 30 T &5 5 mev 40 el M LIet6oT
SOMHS G 676016V aUBaUTUIN6L ML IDTMHMEHNS FHNHHH L Gn M.

(A) 10% 1B &0y (B) 10% ®emmey

(C) 35% Gemmay (D) 22% @emmey

(E) allemL s flwelevemey

Find the least number which when divided by 24, 32 and 36 leaves the remainders 19,
27 and 31 respectively.

(A) 280 (B) 290 (C) 283 (D) 300

(E) Answer not known

62(IH 6TE0OTEMIEO0T 24, 32 LOMMILD 36 Q6L GGG CUTE (WemMEW 19, 27 LOMMID 31
6T6OTLI6OT LG WIS G60IL_55T6V 555 6T600T60)600T &IT600T.

(A) 280 (B) 290 (C) 283 (D) 300



(E) eflemL Qs flwelsvensy

65. IfLCM of “a” and “b” is a and LCM of “b” and “¢” is b, then what is the LCM of “¢” and

“K”

a”.
(A)a (B)b ©O)c (D) abe

(E) Answer not known

a momIh beT WS.QUMT.IOLMIG a eeTayld b MM cer LS.QUITIOLMEIG b erereld
@ BHESITEL ¢ LDMMILD a 60T LS.GILIT.LD. 6T6OT60T?

(A)a (B)b ©ec (D) abc

(E) allevL Gz flwelevemney

66. Which one is correct?

3 -13 -15 -1 1
A)-3<c BB 1t
5 40 80 0 2

2
3 -1 -13 -15 1
B)—<—=—<—<—<=
5 20 40 80 2
15 -13 -1 -3 1
C)—=<—<—=<—<=
80 40 20 5 2

(E) Answer not known
G Lp & ev0TLeuM ML 618l Fiflulimerg?

(A)_E<__13<__15<_11
5 40 80 20 2
(B)_E<__1<£<£l

0 <20 <55
1 -3 -1 -13 -

D) <5 <% <%<wm

(E) allemL s flwelevemey

x2-25 _ (x+5)2

67. Simply 5 T o,
(x—5)(x+3) (x=5)(x+3) (x+5)(x-3) (x+5)(x+3)
(A) (x=3) (B) (x+5) (C) (x+3) (D) (x=5)

(E) Answer not known

FH&HGSH
(x—5)(x+3) (x-5)(x+3) (x+5)(x-3) (x+5)(x+3)
(A) (x=3) (B) (x+5) (C) (x+3) (D) (x=5)

(E) allemL s flwelevemey

68. Simply Z - {G - g) _ z}



69.

70.

71.

72.

168 125 125 160

(A) (B) — © (D) —

125 160 168 125
(E) Answer not known

soses - ((1+2) -3

4 3 6
168 125 125 160

A)— (B) — e — (D) —

125 160 168 125

(E) eflev Qs flueievemney

The exterior angles of a pentagon are in the ratio 6:3:4:3:2. Find all its interior angles.
(A) 60°, 120°, 80°,160°,120° (B) 809, 110°, 150°,120°,80°

(C) 1000, 170°, 160°, 40°, 70° (D) 60°, 120°, 100°,120°,140°

(E) Answer not known

R BHICHTISH 6T G6leTEHCHTIHIGET 6:3:4:3:2 6T60Tm NHRGHEHH6L 2 6iTemeor
6160l 16V 3| SH60T 2L G T600T 6185611 60T 216116 & 60)6TE 85 T600TSs.

(A) 60°, 120°, 80°,160°,120° (B) 809, 110°, 150°,120°,80°

(C) 1000, 170°, 160°, 40°, 70° (D) 60°, 120°, 100°,120°,140°

(E) eflevL Qs flueievemney

Which one of the following cannot be the sides of a triangle?

(A)4,5,6 (B)3,4,5 (©)2,3,4 D)1, 2,3

(E) Answer not known

L9 6dT6 (H 6 60TEUMMIET 6TeM6) (NG & TE00TSH D) 60T LIS G BIGETTS @) (HEHS (LOLYULITSI?
(A)4,5,6 (B)3,4,5 ©)2,3,4 (D) 1,2,3

(E) allemL s flwelevemev

Without using logarithm table find approximate value for log;o2.

(A) 0.2401 (B) 0.3 (C) 0.3802 (D) 1.414

(E) Answer not known

DL &H6M& 3L LeUemeuoTem W] LIWeTLIH S SMN6V 108102607 GHMTTTW OGHUIL| 85M600T.
(A) 0.2401 (B)o.3 (C) 0.3802 (D) 1.414

The cost of levelling and turfing a square lawn at Rs.2.50 per m2 is Rs.13322.50. Find
the cost of fencing if at Rs.5 per metre.

(A)¥1500 (B)¥1380 (O T 1225 (D)X1460

(E) Answer not known

@0 FIITaIQ6 alllemey el 958 FLGSS FHT WL L[HESG €H.2.50 s
€6.13322.50 QFVAITHRMS 6T6fleh HS WM G Caled 9amnGg:s WL L ([(HEHSG eb. 5
af5Lh eTelaI6TE] QF6] 3L E&LD?



73-

74.

75-

76.

(A)Y¥ 1500 (B)¥1380 (C)¥1225 (D) 1460
(E) eflevL Qs flueievemney

The diameter of a semicircular grass plot is 70 m. Find the cost of fencing the plot at
{12 per metre

(A)¥ 7700 (B)¥840 (CO)¥ 2160 (D)¥ 4320

(E) Answer not known

emrall L allgalevmer LevQelefl eermledr el LD 70 m. SI5MHGF &HHM Ceued
MGG @ L (55 I.12 655D 6T6iT60T Q& V6l TG LD.

(A)¥ 7700 (B)¥840 (C)¥ 2160 (D)¥ 4320

(E) eflevL Qs flueievemney

A circus tent is to be erected in the form of a cone surmounted on a cylinder. The total
height of the tent is 49 m diameter of the base is 42 m and height of the cylinder is 21
m. Find the cost of canvas needed to make the tent, if the cost of convas is ¥ 12.50/m?2
(A)¥ 63552 (B)¥ 65352 (O)X 63525 (D)3 65532

(E) Answer not known

R FIHHN SulLMJmarg o menerulledr W& &nldl] @eneorhs  ellgeilley
S| MLDBHSIETOTG. Fa_TTSHF6T QLOMSS 2 WFLD 49 LS. NS0T I LILSHSH 60T el L LD
42 1S, 2 pemeTLILMSGSH e 2 Wiy 21 1. Cald 1 &5 B & mer Slevofluller allemev
12,50 aTevfl6l Bl MJID SIeMNGEHS CHemeUTerT H&HSHTer Slevoflufler ellemevemniiss
&HIT600TS.

(A)T 63552 (B)¥ 65352 (O7F 63525 (D) ¥ 65532

(E) allemL s flwelevemev

Calculate the compound interest on ¥9,000 in 2 years when the rate of interest for
successive years are 10% and 12% respectively.

(AT 1,188 (B)T 2,088 (C)T 4396 (D)¥ 2,596

(E) Answer not known

R OBMMHEHEG D S5HHHSH 2,600T(H&HEHSHE (PeMGW 10% LMmMID 12% FHeisD
all 19 6555560 ¥9,0005E 2 2,0T(H&HEHHEGS QGTLT QL LY 6T6l6I6T6)?

(A)Y 1,188 (B)¥ 2,088 (O)F 4396 (D)¥ 2,596

(E) allemL s flwelevemey

A certain sum of money in simple interest scheme amounts to ¥ 8,880 in 6 years and ¥
7,920 in 4 years respectively. Find the principal and rate percent.
(A) Principal = 6,000, rate = 8%



77-

78.

79-

(B) Principal = 6,600, rate = 8%

(C) Principal = 6,000, rate = 7%

(D) Principal = 6,600, rate = 7%

(E) Answer not known

@ SMILILL siFeumergl Seofl all1lg af555H 60 6 3Leoor(h Serflev T 8,880 o&Ha]D 4
eoor(h G6rflev T 7920 9L&H6) D LDTMIH MG 6T6vfl6L 3&F60 MHMILD QUL L 6F5 56055
&HITEO0T 5.

(A) &156v = 6,000, aul_lq afsLD = 8%

(B) &156v = 6,600, aul g 65D = 8%

(C) 91560 = 6,000, QUL 19 6F5LD = 7%

(D) &156v = 6,600, el g 65D = 7%

(E) allemL Qs flielevemney

A fair die is rolled. Find the probability of getting a prime factor of 6.
2 1 5 1
UNE ®)! ©3 (D)
(E) Answer not known
@M Frmer UsemL @@ Wemm 2 BLLUUGRMS. AF6L 6607 LISKT STHeollsser
FPeML_55 Bl&HLDFHSH6| WTSHI?
2 1 5 1
(A) 3 (B) 3 ©= (D) 5
(E) aflemL Qslwelleveney

Country's first transgender clinic was established at

(A) Gujarat (B) Maharashtra

(C) Kerala (D) Assam

(E) Answer not known

BLOG BITL_ 1960 & ([HIHMHIN G865 & & TeT FIMLIL] LD[HSSHIEILDEET 6TLD LOTH6V S S 6V

Bloeul Ll (B eTernsi?
(A) ®e2IMs (B) LDSTFTeIq LY [T
(C) GayerT (D) sy6iverummid

(E) ellemL Q5 flueilsvemney

Which scientific agency recently discovered evidence of water in asteroids?

(A) JAXA (B) NASA (C) ISRO (D) CASIC

6TH S Mlafluicv QLlie] BlmialeTd miCaH a6 lev &evorent T @LILINS FLILISS 6V
seoor(® LN &551?

(A) JAXA (B) NASA (C)ISRO (D) CASIC



80.

81.

82.

83.

84.

India's first indigenous microprocessor is known as

(A) Shakti (B) NASA (C) JAXA (D) NITI
@QBS W mellev (NG ET (LLEMMUWIMTES 2 6THTL1GC6v SWITIJT60T Hi6oor6 & uled)
(A) Shakti (B) NASA (C) JAXA (D) NITI

Which of the following taxes have been subsumed under GST (Goods and Services
Tax)?

(A) Corporate tax, Customs duty, Service tax

(B) Excise duty, Entertainment tax, Sales tax

(C) Minimum alternate tax, Sales tax, State VAT

(D) Luxury tax, Capital gain tax, Cess and Surcharges

GECp QTR &&ILL B eTer aulfl GemLiLNev 618 GST aUIDLI& 6T 6B LIem6U?
(A) mloeuerr eurfl, &migs aulfl, GFemeu euifl

(B) ®meumev auifl, QUMW SICLIME G auifl, aflhLiemenr auif]

(©) semmbBsLULF nrhHm eulfl, ellmuener aulfl, nmmlev VAT

(D) oy buy euifl, epevgeot eumLILD euifl, Femed LDMHMILD Sn(B &6 6uifl

(E) eflevL Qs flueievemney

‘Namami Gange' - Clean Ganga is responsible for implementing the programme under
(A) Rural electrification

(B) Environment protection

(C) Swachh Bharat 2014

(D) Awareness through village panchayats

BT &HHBIGCSH' - &G I0MET HhIend 6TeTLIS 6THG BlI&LPETHIWSH L L BlahpaFulen
9 6T QU(HLD?

(A) grmuolyy WeTamyn

(B) & mi& @Lp6v LIMSISTLIL

(C) &reud LMTS 2014

(D) ®pmn LEhsmws eneuld el evor

When was Pradhan Mantri Awaas Yojana Gramin was established?

(A) April 2016 (B) April 2017

(C) April 2018 (D) April 2015

‘WNosmer hSHf] opeimerv GUIMR6TT 6Thd 2u,600T(H SHIeUMBISLILIL L &I?
(A) glagev 2016 (B) glagev 2017

(C) gligev 2018 (D) gLligev 2015

Who said, “The Distarict Administration is the total Management of public affair”?
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(A) S.S. Khera (B) Ramsay Mac Donald.

(C) Warren Hastings (D) Anumantha Rao

(E) Answer not known

"lnmeul_L BlFeumssb eTedT LG @l () QMEHS QLIMG efleuss Ty GLoevmevoremLn" 6Teor

Famlweui?
(A) S.S. Q&g (B) pmb@& Q& GQLmeormeu(h
(C) surryedr GameNuLy Mmien (D)sisinb s el

(E) eflevL Qs flueievemney

Consider the following statement:

1. North-Western part of India get rainfall during North-East monsoon.

2. In India, Red panda is found in the western Himalayas.

3. Tamil Nadu get much rainfall during South-West monsoon.

Which of the statement(s) given above is/are correct?

(A) Only 1 (B) Only 2

(C) Both1and 2 (D) Both 3 and 1

(E) Answer not known

FECP QHTHESLILL(H6TeT aUMEH UGS 5561601

1. @bBHwWmeller el -CMmE& LGS, all HP&EG LIHeUSSTHM &TeVnige6rflev
LW QUIBHRMSI.

2. @BHWmaller CLMEG @LWW WenevLlILGSH serflev FlauLiL] Limevor LT
SmeoTLIL(h R M.

3. QE6TCLMES LHaUSHEHTHM &HMTeSH60 SLLDBTH T & |6T6)] LML
QUIBRETMSI.

GG Q&MH&HELILL(H6TET aUMERIWSH 6V eTemal(56T) &iflwimergl

(A)1 (b (B) 2 nL_ (b (O 1mmid 2 (D) 3 nmmib 1

Which of the following is recognized as the Regional Tsunami service provider for
Indian Ocean Region?

(A) Thuthukkudi (B) Chennai

(C) Hyderabad (D) Bhuvaneshwar

L edTeu(meus6oflev 618 @HE U QLIBEISL 6V LIGH&amer LNTmhH W &ermidl GFemnel
HLRUMTH QFWLOLGHMS

(A) 815315614 (B) Q& etremeor

(C) emamHgrums (D) LeuGesTenvaury

Consider the following statement :'
1. The national cadet corps was established in 1948.
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89.

90.

2. The Sainik schools were established as a joint venture of the Central and State
Government.

Which of the statements is/are correct?

(A) 1 only

(B) 2 only

(C) Both 1 and 2 correct

(D) Both 1 and 2 wrong

(E) Answer not known

BLDEG600TL FnMMIEGHEM6T H(IHSH 6V Q\GIT6T.

1. 1948 91 gy600T(H CHFWI LDMEOTAUT LI eMIN&GSLILILL G,

2. & eild LeTerfleeneT 2 (HeumeHE LSS W LDMHMILD LOTHI6V 3 T&E6T &)60600T[H S
BLSSIH MG

GUMsnMIW QFMTMHAMTLIfleL 6T& &Fiflwimerg?

(A) 1 DL (D

(B) 2 nL_(p1d

(©) 1 LMD 2 &ifl

(D) 1 nmmild 2 Heum

Kargil Vijay diwas observed in

(A) 26 September 2018. (B) 24 September 2018
(C) 26 July 2018. (D) 24 August 2017

(E) Answer not known

STIH gl Herd senl LNqLiLg

(A) 26 Q&L 2018 (B) 24 @&LULLbLT 2018
(C) 26 Bemev 2018. (D) 24 o560l 2017

How many Islands in Andaman-Nicobar Islands were renamed by our Prime Minister

on December 30, 2018?

A) 5 (B) 4 Os (D) 2

(E) Answer not known

HSLOMET BISHCHTLII6L 2_6T6T 6785 6m60T H6&HEHEE 2018, I9FIDLT 30 |6Tml
BLG KNTswr o QuwifllLmg?

(A) 5 (B) 4 ©)3 (D) 2
'SAMPRITI 2017' is a joint military exercise between armed forces of India and
(A) Bhutan (B) Bangladesh

(C) Pakistan (D) Myanmar

(E) Answer not known



1.

92.

93.

'S 2017 eTedTLIG @HS WIT LD MHMILD W SLILIENL G660 Sl () Fmemiel

WM& oG LD.
(A) WLmesr (B) uIsH6em G569
(C) urH VG MedT (D) WWwiresTLOmy

In November 2017 and Indian short film “The School Bag" Won the Best short film
award at the South Asian film festival held at Montreal. Who among the following is
the Director of the film?

(A) Anurag Kashyap (B) Dheeraj Jindal

(C) Sujoy Ghosh (D) Samvida Nanda

(E) Answer not known

BHeUldLT 2017 eotmy  omevorlflwedley BemLQuUmHm QOFSME&GS WHW Hemyliul
Allpmelleh “G vamey CLS" eTedTm @HH WIS GSMIDLLLD FMHS GSMILDLIL & 555 T6oT
Almens L QUMMG!. BLP&GIILNLLUILL L aIF&HEH6T LUILLSH 60T @USHGBF WTF?
(A) 9TTE Hequiml (B) 8783 dledrLmev

(C) sl Gasmeq (D) emellgWIT BHST

(E) eflevL Qs flueievemney

The China’s space craft that probe farside of the moon is

(A) Sputnic 1 (B) Chang’s 4

(C) Chang’s 3 (D) Cosmos 3

(E) Answer not known

BleVTal 6T LD MILIGEE MG LT MW Feorm eI 616005608 H) 60T Q\LIWIIT 6T60T60T?
(A) e eoflss 1 (B) & 4

(C)emm 3 (D) smeruG@Lormeiv 3

(E) allemL s flwelevemey

Match the following

Schedule Subject

(a) First Schedule 1. Division of powers between union and states
(b) Eleventh Schedule 2. Languages

(¢) Seventh Schedule 3. Names of states and union territories

(d) Eighth Schedule 4. Panchayats

GGG 600TLaUMenm QLIMIHS SIS

LI 1Q U16v QUITIH6IT

(a) wsev LIL 19 uI6L 1. IDSH W S|T& DMHMILD

LM BlevmEIgerflem L GUIWIMeT SFH ST LK T6y
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95.

(b) LB QeTTETMTLD LI 1 U1V 2. Qmlser

(c) gLomb UL i1guley 3. LDMBl6VMBIGET DMMILD W60l 6T

N8 amigserler Qi

(d) er_Lmb LI 19 U6 4. UEHFTWSHSI

@ ® @© @

A 3 4 1 2

(B) 1 3 4 2

© 2 1 3 4

(D) 3 1 4 2

(E) allemL Qs iflwelsvemev

Match the following

Person Eminent field/designation

(a) Abid Hussain 1. Former Attorney General of India

(b) K.Parasaran 2. Former Ambassador of India to the USA

(c) Subhash Kashyap 3. Former Judge of AP High Court

(d) K. Punniya 4. Former Secretary General Lok Sabha

BLD & G600 LalMenm QUITIHS SIS

BUF slenm / Lgeil

(a) o108 2_GFeir 1. (LOEOTEOTITGIT @ IHH U &H6MmeVemLD QUGN EHIT

(b) K.ugmayesr 2. Q188568 85 TEOT (LNGOTEOT T @\HSH W HTHT

(¢) svUMeq &HEIQ UL 3. (P6TETTeT W HHTT 2 WFBEHwnerm HH LIS

(d) K. yeoflwum 4. (LPEBTEOTIT6IT QILIMEI Q&FWevT, @HSH W LD&HSH6Ten6
@ b © @ @

(A) 1 2 3 1

(B) 4 2 1 3

©) 3 1 2 1

D) =2 1 4 3

(E) allemL Qs iflwielsvemev

Consider the following statement :

According to the first stage of Demographic transition.

I. Death rates are high

II. Low birth rate.

ITI. Absence of medical aid.

Select the correct answer using the code given below :
(A) I and III (B)Iand II (C) II and III
(E) Answer not known

(D)1, I and III
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FLDEG600TL Fn MMM U TMUIS:

IDGGHET QTN DTMHMEHSH 6T (LNSH6V Hleneuudler Lilg

I. 91®\ swnmer @mLiL afsLD.

II. gemmeurest LNmLiL efgd

III. nBsSSI6 2 5l @6veumemnin

G & o e00rLeummieT Fiflumer aflemLenwl CHTHOSHH&5:

(A) I ooy II1 (B) I nmoyin II

(O) II o ouin 11T (D) I, II omoyuin 11T
(E) eflevL Qs flueievemney

Consider the following statements, find the "wrong" one

1. Section 377 of the IPC recently reported in the news is associated with Lesbian,
Gay, Bisexual, Transgender and Queer (LGBTQ) Rights.

2. Joseph shine Vs union of India is the case related to 497 of the IPC.

3. Indian Young Lawyers association Vs state of Kerala is related to women Rights.

4. Yashwant Vs State of Maharashtra is the case associated with Right to education.

(A) 4 only (B) 2 and 3 only

(C) 4 and 3 only (D) 1 only

(E) Answer not known

FLDG600TL S M MG G606T S([(H S5, 3H6V 2_6T6T SEUMITET S MM &6vorL_Nl&%

1. pLUY QFwud&sefled eubs @.5.F. 377 umpdw mlespeumears  “LGBTQ"
2 flemnGEBHL 6T QG TLTLeMLLS 3@E&LD.

2. Gl Fmulear ST @B Tl a6t QIP&ES ©).5.5. 497 6L 6T
QSTLIYMLUWG & LD.

3. @bBHW @6 QPESEMEGBIHET dTHT CHIET TS 61N QIPGEG 6lLICoTS6T
2 fleCWM® QSMTLFLMLIZ & LD.

4. Wevelb THF SGTIMeVLT & eTeoTm alpsHG Hevall 2 flemn UL GCHTH
QSTLIYMLUWG & LD.

(B) 4 nL_(pb (B) 2 nmmith 3 (LD
(C) 4 bMmmIb 3 WL (HILD (D)1 LD
(E) eflem_ Qs fliellevemey

If the diameter of the earth becomes two times its present value and its mass remains
unchanged then how would the weight of an object on the surface of the earth be
affected

(A) Becomes half (B) Becomes one-fourth

(C) Becomes one-third (D) Remains unaffected
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99.

(E) Answer not known
Llufesr el LD @@BLEIG AH&FEG0D CUMTEH ST GQLITIHETenLn DMMITLO60
@mERME ereofley Lblufledr GMUTLILNeL 2 6Tem QUMH6Tler 6Teml  eTeUeu MM

CaumiLIGRMSI?
(A) uTH WHEMs! (B) BeT&l6L @ LUGHWTH M
(O) epearley @ LGS WTE DS (D) nmmmine Q&S mal

(E) eflemL Qs flwelcvensy

Nuclear forces are

(A) strongly attractive force

(B) strongly repulsive force

(C) attractive or repulsive depend on nucleans
(D) gravitational forces

(E) Answer not known

3|15 5 ([H len& 6TedTLIS!

(A) 9185 sjaTalley FI&H858 Falq WGl

(B) 2195 oemailev eTHTLIL| aflen &

(C) o158 SIG6T QUTHSS FILIL elenFWmEHGalT j6V6v&l 6THFLIL]
allenFWMHECIT 6mLoU]LD.

(D) yaulyLiy elen s

(E) allemL s flwelevemey

According to Moseley’s law the frequency of the spectral line in X-ray spectrum varies
as

(A) Atomic number of the element

(B) Square of the atomic number of the element

(C) Square root of the atomic number of the element

(D) Fourth power of the atomic number of the element

(E) Answer not known

GmenvedSlullesr NIFILILILG emeuLlnmeneuUN 6T i) TG 6 600T60600T LI GQILIM(H & Sl
X-55\ F&H6IT1 60T 216016VLDMEN6V 6TeUUTMI LDMMILIBHSRMS.?

(A) 56e0flln 55 60T |67 6TEvoTEM600TL] QLIMTIHS S

(B) 5560f10 55 60T 21650 6T600TE001 60T @)([H LOL_MBI60SH QLIMTIHS S

(C) 60D GF 60T 2|60 6T600TE00T 60T QUT&HS PG NS G LIMTIHS S

(D) s560fln 55\ 60T 21600 6T600TE00T 60T [HITEOT(S LOL_MBI60&H GLITIHE S

(E) allemL s flwelevemey



100. A Cathode Ray Oscilloscope (CRO) is used to measure of a signal.

(A) voltage (B) frequency

(C) phase (D) all the above

(E) Answer not known

H e UMl &HFT siemeva] &Ly (CRO) &mlen e g ulleor N lTHS
LweTU® SR mSI.

(A) WetTeT (S HLD (B) <1876 6u6v0r

(C) &L LGssmevoTLD (D) GomasevorL WM LD

(E) eflev Qs flueievemney

101. The Prime Minister of India announced the Havelock Island in Andaman and Nicobar
renamed as
(A) Netaji Subash Chandra Bose Island
(B) Shaheed Dweep Island
(C) Swaraj Dweep Island
(D) Virsavarkar Island
(E) Answer not known
IBsMeT, BIGCHTUM laeTem  Camelevmds Halma @bHw  LFsLormey
NG LILLL QLU 6T60T60T?
(A) CBHHTYl &LIMTe FHS T GUITE S
(B) marlg L1 Say
(O saurme ol G
(D) efgrauysam Ga|
(E) allemL s flwelevemey

102. Which one of the compounds is not a protonic acid?
(A) SO(OH). (B) SO2 (OH). (C) B (OH), (D) PO (OH);
(E) Answer not known
NetTau@Lld GFTINGH6L 678 L|GTTLLMeT Lil6uLD 3i606V?
(A) SO(OH). (B) SO2 (OH). (C) B(OH), (D) PO (OH),4
(E) ellemL s flwelevemey

103. SO2 acts as
(A) areducing agent
(B) an oxidizing agent
(C) both reducing and oxidizing agent
(D) neither reducing nor oxidizing agent
(E) Answer not known



SO2 ereoTLIS

(A) (&G &Tiyevor]

(B) ews:&161 gl

(C) 285861 gmm - RHI&HGLD STiyeot]
(D) @peoor(h @l @) 6vemev

(E) eflevL Qs flueievemney

104. Nitrous Oxide is known as Laughing gas. It is also used in medical field as
(A) Instant horse power (B) Propellant
(C) Antiseptic (D) Anesthetic
(E) Answer not known
Bl wHmFRH FFlILLL G eumuy 66l mPs&SLILGSMmS. Gaild @8
GBS Slemmuiey LeTaumm LwWeTLRSmSI.
(A) 2_Lerly BT e Hmedr (B) 2_b&l QUTImETTS
(©) el préieflwns (D) bW&S DBHSTSH
(E) allemL s flwealevemey

105. Methane is the carbon compound. It’s molecular formula is
(A) CH, (B) CH5CI (C) C:He (D) CC14
(E) Answer not known
I55CH60T ([H SHTTLMET GQ&HTeooT(H6Tem 6(H CLNVESnM S ELO6VEHFa M
eurmwitium(@).
(A) CH, (B) CH5CI (C) C2He (D) CC14
(E) allemL s flwelevemey

106. Which of the following is strog acid and strong base reaction?
(A) HCOOH + NH; (B) HCOOH + NaOH
(C) HCI + NH,4 (D) HCI + NaOH
(E) Answer not known
LesreuneusoreummieT efflw &Hs levd wmmih oSl WGBS &My elleneren
CaxIHG T(h&&Ha]LN.
(A) HCOOH + NHj4 (B) HCOOH + NaOH
(C) HCI + NH; (D) HCI + NaOH
(E) ellemL s flwealevemey

107. Find the wrong pair/pairs
1. Metabolism - Sum total of enzymatic reactions



2. Auxin - Photosynthesis

3. Photolysis of water - Growth

4. Oxidative phosphorylation - Respiration
(A)1and 2 (B) 2 only
(C)2and 3 (D)3 and 4

(E) Answer not known
S6UMITEOT ©)60)600T/ @) 60)600T56M 61T & 600T(H LIlLg.:

1. UeTIFens WMMHMLD - RLHOWMSEs QBTH serfler allemeords et
2. 94,8 610607 - RefIGF &

3. Bifledr eperfliLemg & 60 - QUeTIES

4. 9150 8CeTMHM LIMEN LTS JeooTD - FEUMEFLD

(A) 1 mHmib 2 (B) 2 nL_(pbd

(C) 2 poid 3 (D) 3 wpad 4

(E) allemL s flwelevemey

108. Which one of the following is need on a non-conventional source of raw material for
the paper production?
(A) Bamboo (B) Casuarina
(C) Sugarcane bagasse (D) Eucalyptus
(E) Answer not known
GG Q&EMHS&ELILLB6TeTamalGafled  eTemel WIUSFTIT 2. MUSH QUITIHETTS
STH S SWTHlEHES LWaTUBSH M.
(A) eprai&ley (B) 5045&
(C) &b 5565 (D) w,ameilL1Lev
(E) allemL s flwelevemev

109. Consider the following Endocrine glands

1. Islets of Langerhans - Produce Insulin
2. Thyroid gland - Produce diabetes
3. Adrenal gland - Produce Goitre
Which of the following is correctly matched?

(A) 1 only (B) 1 and 2 only
(C) 2 and 3 only (D)1,2and 3

(E) Answer not known

BLO&HTH&HS&LILLR6TeT BTerTileveu &FLiLNgGerfley eTgl Fiflwme QUMTBHSILD.

1. B8R 6VL6V 411 GEVKISTE 60T - @ eraredlement Q& MH & EGLD

2. &I S - Fis&mT alWTHenw QamH &G0

3. il feorev &Ll - (6T BLPG S HeVemLPem U Q&THI&GLD



4. 91,50 8CeTMM LIMENV LTS JeoTD - FEUMEFLD

(A)1 (b (B) 1 nmmiid 2 oL (HIb
(C) 2 nmmIb 3 LL (LD (D)1, 2 nHmild 3

(E) allemL s flwelevemey

110. Which one called from the development and the maturation of the erythrocyte from

the haemocytoblast?
(A) Erythropoiesis (B) Erythrocynin
(C) Erythrocyte (D) Haemotocyte

(E) Answer not known

Eé&saLamnld) @rUss Fealll Semsiser anlnl GLmiiermeig serfledmbal
2 (HUMH WHTFH SemLausSME& QL.

(A) erflBH CrmumuI& erv (B) 61183 Cymem & 6ofl 661

(©) a3 Crmem &L (D) anflol LT &L

(E) eflevL Qs flueievemney

111. Combined drug in use to cure the Malaria is
(A) Quinine (B) Fansidar
(C) Chloroquine (D) Primaquine
(E) Answer not known
Caflwmemel GeorIL(BSS SMHCLME LIWeTLHSSILMGLD Fal () IDGBHS! 6TSI?
(A) &uWiemeoredt (B) GueTRILT
(C) ®&GermCrmE@uilesr (D) NempLom@uiesr
(E) allemL s flwelevemey

112. In mammals the mammalian glands are modied gland of following
1.Salivary gland.
2. Sebaceous gland
3. Pituitary gland
(A) 1 only (B) 2 only
(C) 1and 2 only (D) 1and 3 only
(E) Answer not known
LImeurL19. &6V LIMeL &J& @& S&TLILNG6T LeTauld &rlflums mmmmUiul ()
QEWeLLOH M
1.2 0BT syl
2. FCUAR W6 &L
3. M w il &l
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114.

115.

(A)1 (b (B) 2 nL_(pbd
(©) 1 wmmid 2 L (HILD (D) 1 mmid 3 L BID
(E) eflemL Qslweflevemey

Which of the following ecological Pyramid is always upright?
(A) Pyramid of energy

(B) Pyramid of number

(C) Pyramid of biomass

(D) (B) and (C)

LNetreumeusoTaumiley eTal GBI meoT @ LpBlemneuuiuiey FnlbL]?
(A) @LMM6L FnlbL]

(B) etevorevof G608 FwlDL]

(C) et6mIL FmIDLY

(D) (B) wpmid (C)

(E) allemL s flwelevemey

Match the following rivers with its famous towns :

Rivers Towns

(a) The Ganga 1. Surat

(b) The Brahmaputra 2. Agra

(¢) The Yamuna 3. Guwahati
(d) The Tapti 4. Benares

FECLP QHTHE&ESLILL(H6TeT 5 & 6M6T, H60T LS aUMUIHS H&HTHI&HCTT(H
QsMTLIUUOSSIS:

55 56T 15857 161 & 61T

(a) BsRIST 1. &S

(b) Ygbwyggm 2. QLG

(¢) wpeorm 3. GaUTamsS)
(d) 5118 4. LIGOTITIT6IV

@ () (© (do
(A) 2 1 4
(B) 3 4 1
© 3 4 2
D) 4 3 2
(E) allemL s flwelevemey

=N W

What is the covalency of nitrogen in ammonia molecule?
(A) 2 (B) 4 D)3 (D)5



116.

117.

118.

(E) Answer not known

S|Cmesflwmailev 2 66T enbL_[7e260f160T &8 LI 6m60oTLIL| 6T600T

(A) 2 (B) 4 (D)3 (D)5
(E) eflevL Qs flueievemney

Which type of Forests grows well in a area receiving rainfall exceeds 250 cm, and
temperature is 25°C to 27°C?

(A) Tropical Semi- Evergreen Forest

(B) Tropical Wet - Evergreen Forest

(C) Tropical Moist Deciduous Forest

(D) Dry Tropical Forests.

250 Q&F.18. G0 AH&HWMs Wwenp Qurde] mmibh 25° C wa e 27°C aleni
QeuliLLD 2_6Tem LGS S6rflev eTelauend Sm(h 86T &Moot L LI (h &) 60T 60T ?

(A) SjWwieoT D6TITL6V LIME LIGremLD LOMMITE & M(H 86T

(B) sjwieor evoTL6v FILLUGSLOI&HS LISemLD LDMMTES ST(H &6

(C) oywierr oevorL_ev FFLILISLOGES @S T &T{H SHe6T

(D) eumeoorL {uI6oT LD60OTL6V &T(H &H6IT

(E) eflevL Qs fluaievemney

1.Project Tiger is a Tiger conservation scheme

2. It was launched on 1 April 1983.

3. 27 Tiger Reserves have been setup in 17 states under this scheme.

Which of the statements given above is/are correct?

(A) 1 only (B)i1and 3 (C)1,2and 3 (D)2 and 3
1. UpmRsLl el &l eTeTLIS L|eS&6T LMmaismilNmens gl s UL L

S LIDMGLD.

2. @SH L LD gLIgev 1, 1983 6L FHULOSHLILIL L SI.

3. @&HLLEHermev 27 Led&6T LIMSISTLILGLID 17 I0MHleuklgerfleu
gOUBSSILLHETeTg!.

(A) 1 L@ID (B) 1 opmid 3 O 1,2wHpmb3 (D)2 wHoID 3
(E) ellemL s flwelevemey

Which type of rainfall is closely associated with Equatorial Region?
(A) Orographic rainfall

(B) Frontal or cyclonic rainfall

(C) Convectional rainfall

(D) Monsoon rainfall

LSS WL UGH WL QuUTBuLD WemLpuiler auem s



(A) 6L HEOL DL

(B) euerfl(p& o166V &I LIUIGD LDEDLD
(C) Qeuli&eveoT LDGDILD

(D) u@eus SHTHMI LDEDLP

(E) eflevL Qs flueievemney

119. Inversion of Temperature occurs during
(A) Short nights.
(B) Long summer night and chill night.
(C) Long winter night and clear sky
(D) Cloudy sky
QaulILLD HMeVELPTE IMMIIFMNES CHemnalliL(BID GLDHlem6vs: 6T
(A) GeomHs @6y
(B) BevorL @& memIL Smeuld LDMHMILD Gerfl &mm oy
(C) BevorL @6l &meuld LDMMILD Q& 6rflaumeT aumeoTLh
(D) GnssLh eLnLg ULl 6)IT6oTLD
(E) eflevL Qs fluaievemney

120. The writing method of Tudus Script was
(A) From left to right only.
(B) From right to left only
(C) From left to right and right to left
(D) From right to left and left to right
FHg FlInQelef] MW S (DM 6T60TLIS)
(A) @LA@®BHS aueulnms eTW&IaUS! L (HILD
(B) auev Bl & @ LLOMS 6T S&iaugl oL (HLD
(C) @LABHS eueulnns eNpS&ialg InMmMID eleldl(BHS @LL0TS
(D) auevdlpHh & @LL0MS MM @)L LO[BHES QI6VLDTS 61D SIS
(E) ellemL s flwelevemey

121. With reference to Sangam period which of the following pair is/are not correct

(A) Tramiradesa Sanghatam - Confederacy of Tamil States
(B) Udiyanseral - First Chera Mannan

(C) Madurai Kanchi - Mangudi Marudan

(D) Naura - Tondi

(E) Answer not known



122,

123.

124.

FHIGSHTEVD QSTLFLIMeT ellLITmigerfley GLD& 60T 60686160 6TH& @) 601600 Q&L L]

SIHDY 2 6TeTg!

A) UWlFCsHF FRIGTHLID - SLALD LD GOTEOT 785611607 G L L 6mILDLIL]
(B) 2_ S wer@&Fy6v - (WD&6L CFIT LDEDTEOTE0T

(C) nsemT HTEHF - LDTBIG LY. L0 [HS 60T

(D) meygy - QB MEuoT LY,

(E) eflevL Qs flueievemney

Who was recognised as the 'Successor of Sivaji'?
(A) Balaji Viswanath

(B) Balaji Baji Rao

(C) Rajaram

(D) Bhonsle of Nagpur

(E) Answer not known

'"FRleurgdlulledr eurmfla:' eTeor QMG S GHHLILLL6UT WTF?
(A) urmeuredl ellerveumTs

(B) umeurredl Limedl ey

(O @umgamymid

(D) mmaLLifledr LimesreruGev

(E) allemL s flwelevemev

The Battle of Talikota was fought in the year

(A) 1575 (B) 1565 (C) 1545 (D) 1555

(E) Answer not known

FHVEHCHTLemL LI GUITT ML LIQUMM eUBLLD

(A) 1575 (B) 1565 (C) 1545 (D) 1555
(E) allemL s flwelevemey

Which of the following pairs are correctly matched?

1. City of Jaunpur - Firuz Tughlug

2. City of Ahamadabad - Ahmad Shah

3. Zain-ul-Abidin - The Akbar of Kashmir
4. Founder of Khalji Dynasty in Malwa - Husain Shah

(A) 1, 2, 3 only (B) 2, 3 only

(C) 3, 4 only (D) 1 only

B G600 @) emenT&6fleL FIflWmes @) emeoord:aLILL (heTememn g &evor(h LI

1. 826)6TLLT &L - NCrmYm si86ms

2. 9&HIDSGTUMTS BT - &HINS O IT



3. uilerT 2.6V SN 6ot - &meq L5Hler o1&

4. nmevaumelley Bevgl aIlbsHen s Blmialweur - 2 _6M6160T — OQ.IT
(A)1,2,3LL@0HILD (B) 2, 3 ()b
(C) 3,4 LG (D) 1 L @D

125. Northcote-Trevelyan Commission of 1853 linked with
(A) Education (B) Agriculture
©)ICS (D) Industry
(E) Answer not known
BTFSCSHTL -9 TeueV 6T Hlilag sl 6T (1853) QSTLTLjenL WS
(A) seva (B) efleusmuwild
(O) ICS (D) asmidlev
(E) eflevL Qs fluelevemney

126. In which field, the colonial regime followed Downward Filtration theory?
(A) Educational policy (B) Industrial policy
(C) Social policy (D) Commercial policy
(E) Answer not known
THBHS Slemmuiev &meveni] 9Ta BLPECHTESR Qs (HID CHTL LML 6L

Nesrummlwigi?
(A) vl QSTETEN S (B) @smhléL giemm Q& meTend
(C) srsaTW Q& TETemN S (D) QUmTmeTTETT Q& TeTeN &
(E) allemL s flwelevemey

127. Which of the following refers "Unity of Spirit” of Rabindranath Tagore?
(A) Unity of India
(B) Unity in diversity
(C) Consolidation of India
(D) India's complexities
(E) Answer not known
@reib&IBMg SMeafler "QLEIMF&HSIMET D" 66D QFTHRASTLT S
SOILNL LaimmieT eTgenet &L (Hh&HeTmsI?
(A) @B%H W eHmienL
(B) Gaummieninuiev spimiemin
(C) @BBH W b mIG eneuorLiL
(D) @b wimedledr LIedTem L0 g & 60T6mL0
(E) allemL s flwelevemey



128. Match the correct pair :

129.

Planets Density
(A) Mercury - 1000
(B) Jupiter - 19.182
(C) Earth - 0.387
(D) Uranus - 5.203
Frflwmer @emeoTenlsd CHIe] Q&I

Q& TeiT LTSS
(A) Qi - 1000
(B) gLy - 19.182
(C) Ll - 0.387
(D) wGyeorerv - 5.203

(E) allemL s flwelevemey

Which one of the following concept is not Rule of Law?
(A) Natural justice

(B) Fair play

(C) Equity

(D) Judicial equality

(E) Answer not known

GLpaIIBLIGIETEUMMIET 678 “FLLESFH 6 &LA" BemL_wimsi?
(A) Qupems HSH

(B) mlwmwinmer Q&wmum@)

(C©) soms BLSSLILIGILD (RaIQaITIHIIHLD ) GLO6V
(D) 6% FLg 6D

(E) allemL s flwelevemey

130. The Judiciary was separated from the Executive under which article

(A) Article 50 (B) Article 64

(C) Article 60 (D) Article 51

(E) Answer not known

B8 siemmwmeTg BlFeums Senmull b @bHE 6The GLhsevor. FL L 2 ML epeuld
WssuulLg?

(A) FLL 2 miliy 50 (A) L 2 miliL 64

(C) sLL 2 mii 60 (D) L 2 miliy 51

(E) allemL s flwelevemev



131.

132.

133.

134.

The Government of India issued the citizenship (Pondicherry) order in the year

(A) 1962 (B) 1964 (C) 1969 (D) 1967

(E) Answer not known

@BH W ATFMHEIGLD GlYLn&s6T 2 flenwn (Lmeorig &FGFIfl) g emetorenl Qauerfluill L
24,6007 (D)

(A) 1962 (B) 1964 (C) 1969 (D) 1967

(E) eflevL Qs flueievemney

The Essence of "Judicial Activism" is an

(A) Active Justice delivery system

(B) Active Implementation of Rule of law

(C) Active interpretation of law

(D) Active Intervention of Judiciary

"QFWSTHSHLD Q&TeuoTL [H) 6ULPMHIGEV" 6T60TLISET 2_6T6TL &85
(A) allempeurs B3 aILpBEIG6aISI

(B) FLLEH 6T &L Flevrl 2615 5&10M8 [Heo)L (LM LI(H & Si6U S
(C) earsm10Ms: FLLSMG eTEHS o miel sl

(D) earga10ms: BEHSIenm Senevul B eusl

(E) ellemL Q& flueilsvemney

Balwant Rai Mehta committee in its report suggested

(A) Three tier system (B) One tier system

(C) Four tier system (D) Two tier system

(E) Answer not known

LIevauB &MUl CLngST Gwele s s ulley LflhaenTaaLiLl L gl
(A) epearel 2H'&G W (B) 21086 wemm

(O) prevT® 2O &S WM (D) @reor® 24O'&S Wemm
(E) eflenr Qsflueilsvemey

Name the Prime Minister when for the first time the No-Confidence was moved in the

Parliament?
(A) Jawaharlal Nehru (B) Lal Bahadur Shastri
(C) Indira Gandhi (D) Morarji Desai

(E) Answer not known

HITLTEBLOETM&HFH 6V (LNFHV (LNEMMUITS BLOLINGensHUIN606VT SIDMeTD Q& meuor(h
abs CUME LNISHLID eMWDFSFTTH @hHEHeUFT WT?



135.

136.

(A) 26usFevITeL GH(H (B) evrmev LT Fmerv & if
(C) @Bs T &MHS) (D) Qorymed GHEF MUl
(E) eflemL Qs flwelsvemnsy

Which of the following statements regarding the fundamental duties contained in the

Constitution of India are correct?

I. Fundamental Duties have formed apart of the Constitution of India since its
adoption

II. Fundamental Duties are applicable only to the Citizen of India

III. Fundamental Duties have become a part of the Constitution of India in accordance
with the recommendation of the Swaran Singh Committee

IV. Fundamental duties can be enforced through writ jurisdiction

(A) I, IT and III correct (B) I, IT and IV correct

(C) II and III correct (D) IIT and IV correct

(E) Answer not known

EL&eoTl  Smmmisefley Fflumeraimenm CHTe &FUWIs. UleTal@mld @nhHul

ATFWevemnlllLl] FLLEGH T QUL &SLWGT GMHS eu@ld  SFifluimer

G MMIGET WITem6eU?

I. @bHw SrAwevenoliL] FLLLD 2 (heUTEHWH6L @HHSE i LILemL &L 60D
RO UGHWTS QOBHS GH DS

II. 9QLliLiemL HLem @HH W GIQn&ESGS L HIG QUITIHHSILD

III. erveuyest FIMEI &L eP6VLD I LILIL &L MG 66T @F LIGH WS
STFWevenoLiL] FLLEH6 CoFF&HaHLILLL S

IV. BS L1 GLITTe6t0r8: 6T eL06VLD I1Q LILIEML &L 6MLIDGEHEM6T BlemeBITL L (LOLQU]LD

(A) L IT iopoyid IIT &ifl (B) L IT inpoyib IV &

(O) II inmoyuid III &ifl (D) III nmomiid IV

(E) allemL s flwelevemey

The mandate of the official language commission under Art 344 is / are

1. The progressive use of Hindi language for official purpose of the union

2. Restriction on the use of the English language for the official purpose of the union.
(A) 1 only (B) 2 only

(C) Both1and 2 (D) Neither 1 nor 2

(E) Answer not known

TR WevemnDlILEF FLL 758! 344 B 2 (haumsaLILLL 9l & Qomdl
31,60)600T U1 &) 60T LI6uoT] 651D 8585 600T L6 M MIGT 6TS51?

1. @BH W epeTMIWSH 60T L& QmSlwims amlbSH et LI LILIQUITS
Sje(h G sl g



137.

138.

139.

2. QS W eTMIWSH 60T 9L & QLMAWLITS IS eVESMS LI LW 6T L0 & S660 855

GG SIE Q&HTETEIS.
(A)1 (b (B) 2 nL_(pbd
(©O) 1, 2 9P W @revor(H LD (D) 1, 2 @emeu gaiadlevemev

(E) eflevL Qs flueievemney

The words "Socialist" and "Secular" were added to the Preamble of Indian constitution
by

(A) The Constitution (First Amendment) Act 1950

(B) The Constitution (Sixteenth Amendment) Act 1963

(C) The Constitution (Forty-First Amendment) Act 1976

(D) The Constitution (Forty-second Amendment) Act 1976

(E) Answer not known

ahs SATRWeemLILS HBHHFF FLLEGHaT S @QBHW TFFRwevennlilgF
FrFarsHev  "CormFeian”  wmmih  "SFFTIUMM"  6TTM  aUMTTE S SH6T
CorsHaLILILLeor?

(A) waemag FLLSHBSHSD 1950

(B) uermoreug &L LSS ®SSLD 1963

(O) prHUSH) RaTDTUS FLLESBSSD 1976

(D) prHUSS @It Meudl &L SHBSSD 1976

(E) allemL s flwelevemey

Who is among the following associated with “PURA" model?
(A) Dr. M.S. Swaminathan

(B) Dr. A.P.J. Abdul Kalam

(C) M.N. Roy

(D) B.S. Minhas

(E) Answer not known

GG 60Tl TS EH6T Wi "L’ S HCwWm® Q& TLFLemLWeIT LelF?
(A) L& eTLD.6Ten. & 6u ML [B T8 601

B) LmsLb ¢.19.68. 9|L1&I60&60ITID

(C) erLd.6T60T. TITUI

(D) W.et61v. 1O 60TE TN

(E) ellemL s flwealevemev

Norman Borlaug - is associated with
1. high yield variety seeds



140.

141.

2. chemical fertilizers

3. chemical pesticides

Select the correct answer using the code given below : .

(A) 1 only (B)2and 3 (C)1and3 (D) 2 only
(E) Answer not known

BTILO6T GLITITEVITE - 6T60TLIAUT QST JL|6mL WGl

1. efflwrs ellemg o6t

2. JFMTUIEOOT 2_[JTHIGH6IT

3. JEMWET LLFR &G &HMev6dl L0(IHH S8 6T

FEC QTR &&LILLLemeausserflev Ffluimer ellemLenwl CHTHOSHH &&:

(A) 1 (D (B) 2 nmmib 3 O 1wmmib 3 (D) 2 (b
(E) eflevL Qs fluaievemney

In which of the Industrial Policy Resolution (IPR) the establishment of socialistic
pattern of society was adopted?

(A) Industrial Policy Resolution of 1948

(B) Industrial Policy Resolution of 1956

(C) Industrial Policy Resolution of 1985

(D) Industrial Policy Resolution of 1991

(E) Answer not known

6HS QSTPMASETETenNs STIDMaTEFH 60 "Flog i TH Il FWPSTWLSHMS"
FHLO S H6V 6T60TLISH JMMIGQ&STETATLILIL L &7

(A) 19489410 9L6v0T(H QFHTLH MG HTETENSH ST LOMeoTLD

(B) 19569410 21,600T(H QFHTLH MG SHTeTen S HiFL0meoTLd

(C) 1985 9y b pev0r(H QSTP MR &TETenSH HIFLOMEOTLD

(D) 19919410 o4600T(H) QSTEHIMQ S TETEN S ST L0 M6oTLD

(E) allemL s flwelevemey

Inflation adversely affects

(A) Profit earners

(B) Fixed income earners

(C) Speculators

(D) Investor

(E) Answer not known

LI6ooT6 5 885 &6V 6TH T LD6MMUITSH LITH &8 T lq UI6U[TSH6T
(A) svmuLd FFLOGeury

(B) mlemevwmenr eupeumul FL R Ceuriy

(C) 2a15 aumenoflLIGH L FHILGCEUTH



142.

143.

144.

(D) wps6SLLrmeriy
(E) eflemL Qs flwelsvensy

The objectives of Monetary policy is / are

L. Price stability

II.Economic growth

III. Social justice

IV. Reducing budgetary deficit.

(A) I only (B) IT and III only
(O) I, IT and III only (D) IV only
(E) Answer not known

Lievorel L6V Q& meTen & Ul 60T CIBITE: & IG5 6T 6T60T LIS

1. aflemev Bletr6v & & 60T6mI 0

2. QUTIBETITSITY 6U6TIEF)

3. Fens HS)

4. SII& aTe-QFae] S LEFH 6T LImMTHGmMMenl GemmLiLg
(A)I L@ (B) IT o ouid IIT o (b
O LI nmoyd IITV (D) IV @b

(E) eflemL Qs flwelcvemnsy

With reference to NITI AAYOG, Which of the following statement is / are correct?
(i) Transforming and development agenda of India

(ii) Promoting growth and development.

(A) (i) only (B) (ii) only

(C) (i) and (ii) only (D) Neither (i) nor (ii)

(E) Answer not known

B CUTEH SHSSILILIL., BLDEGH600TL_eUMMI6T 678! FIIWTET Fo MM 6TETLIENS
&HeooT(H LN & 55?7

1. @B WMl eUeTTES CBTEHSHMBIGHEMET LDTHMINS Q&F IS

2. QUETIFS DMHMILD (PETCOTMHMHMS CIDLIHS SIS

(A) () L @w (B) (ii) m_ @b

(©) () ooid (ii) (D) (1) opoid (i) Heummereney

(E) ellemL s flwealevemev

The “Social Protection Index" has been coined by

(A) Asian development bank

(B) World bank

(C) UNDP - United Nations Development Programme



(D) Planning commission of India

(E) Answer not known

"FWsTw UmssTUL GOIUTG", WTTmev 2 (heumseaLILL L Sl
(A) 95w eueTIFH aumbIH

(B) 2_6v5 aumIH

(C) UNDP — 358\ W Br{H &erfler euemy&s G LD

(D) @B®w L& Gw

(E) allemL s flwelevemev

145. Pradhan Mantri Gram Sadak Yojana (PMGSY) is primarily
(A) Rural Water Supply Programme
(B) Rural Employment Generation Programme
(C) Rural Roads Development Programme
(D) Rural Health Programme
s hH&f Sord F5m16 HLULI0TeTs L6 [HEI6TeU M MI6T 615 MG
(LN G 6OTEMLO WL TEOTS!
(A) 21y GQHT uES S L 1D
(B) 2eryss GeusmeveumulliL] S LD
(C) earpss Fmemev GUUMTL(H\S HIL_L LD
(D) earpss &&MsMT S LD

146. A closed economy is one which
I. does not trade with other countries
II. does not impose and restrictions on international trade
III. does not have a coastal line
IV. is not a member of the United Nations Organisation.
Select the correct answer using the code given below :
(A) I only (B)Iand II
(C) I, II and III (D) all the above
(E) Answer not known
B LD G 600TL_eUM M6V 6T 6260TMI ELOLG U QILIT(H 6T T&ITTLD
I. m BT &EBL60T aumenstLID GLOMGGTETETTE QLIMTIBETTSTTLD
II. uetTeoTTL_(h) euMeToi LIS FH6L 6TH S FHemL LD NF)L LG @) 6vem6v
III. &6V eulblL] LITem S @) 6VeVMTS S
IV. 258w prh sefler oemwlitiley 2 miliNery @eveuminey @) (HLILISI.
G L& evoTL_euMNlev 6T&l spedTm! FiflulmeoTssl:
(A)I (b (B) I omoyuin 11
(O L II nmmib IIT (D) Gom&600TL. 6m60TSH SILD



147.

148.

149.

150.

According to R.C. Majumdar's statement, the Revolt of 1857 failed because

(A) there was no unity of command in the armies of revolt

(B) the army of result suffered from serious financial difficult

(C) the Indian states did not support the revolt

(D) there was no coordiality between the Hindus and Muslims.

(E) Answer not known

7.6, 10O G MIfleT GomMILILIG 185710 yevor() LT LA ulledr G&meveaild & meor
&5 TJ600T LD

(A) @urmemieal eSTIserflLLh eMHmIenLD G)6V6m6V

(B) @urmemial efgaerfl b QUITIHETTSITYT &6 L LD @)BHS S

(©) @UUILAWleL @BH W LDES6T 3,576 E)6Ven6y

(D) @ba WeveSid eemhmienio @eienev

(E) allemL s flwelevemey

Read the following statement and find out the correct one.

1. C.R. Das was known as Deenbandhu

2. He was the uncrowned king of Bengal

(A) 1 only (B) 2 only

(C) Both1and 2 (D) Neither 1 nor 2

(E) Answer not known

ECL QHMH&SLILILLaImenm almfA S5, Fiflwmer allemLenwl CHTHAS®M.
1. C.R. e, Beoriib ! 6Teor MWL LITH

2. @I CUMBIGITETS S 60T (NI G LT LOEOTEOT [T

(A) 1wl @ (B) 2 nL_(itb

(O 1mmib 2 (D) 1 nmmild 2 G 6vemev
(E) allemL s flwelevemey

Which song is called "The Bible of Modern Bengalee patriotism"?
(A) Jana Gana Mana (B) Vande Mataram
(C) Gitanjali (D) Devi Chaudhurani
(E) Answer not known

'"Befeor eUBIGTET GHESH 60T 60LILN6T 6TeoT 2 emLp&GHLILIH S ?

(A) 3601 B>60T LDGOT (B) aub@s DM LD

(C) &xmEhsed (D) Gz el QEengmyevol]
(E) allemL s flwelevemey

Who said "I am an Indian Tomtom, waking up all the sleeping sleepers so that they
may wake and work for their motherland .... This is my task"?



(A) Mrs. Annie Besant

(B) Ravindranath Tagore

(C) Sarojini Naidu

(D) None of the above

(E) Answer not known

"IBTET 2(H @HH W LMY CFal6 SHMHBITE G &Mool (HLILIEUTE 6T HIT6or 6rpLiLNg
Q&MeooTGL @ HLIGLIGT. LIGUMSIS T 6UT&H6T 6T(HS! HHISGET HTUI BITLIQMEHTH
UTOUGGUTTEET..... @) S1G6 6T6orgl Licoofl" eTedTml Fomluleuy wimp?

(A) oj6iTeol1QLIENVEOTL. S{LDEnLOWITH

(B) il a0 BMS ST

(C) sGymedlent] BTw(®

(D) Gum&mmlw wWimLilevemney

(E) eflevL Qs fluelevemney

151. What was the form of Struggle that Congress adopted against the British in 1940.
(A) Non-Cooperation
(B) Individual Satyagraha
(C) Mass Civil disobedience
(D) Armed struggle
(E) Answer not known
1940-6V &MHIKH TN Y BIHCELWI[HE G TH TS 6T6U6UMSHUITET CLITTTL LS50S
60)8 UL T6O0T LS.
(A) @551mPWITENLD @ UGN
(B) 59 WMHFsI0
(C) QU6 HmeT FLLDMILIL] @UI&HEHLD
(D) GumgmLLLD
(E) allemL s flwelevemey

152. Consider the following events and find out the chronological sequence of the events
1. Chauri chaura incident
2. Russo - Japanese war
3. Gandhiji returned from South Africa
A)1,2,3 (B)2,1,3 ©)3,2,1 (D) 2,3,1
LY edTeu(Heu6oTeUMMIET 856V eUiflem & LILILGUITEDT Bl& L6 &eneT CHTHE &M
1. QFarfl QE6eTym BISGLES
2. Jequl - gUILImeoflw GUITH
3. &MHS QgererTLLNS&sTellev @hbhg & [HLL &6V
(A)1,2,3 (B)2,1,3 (©)3,2,1 (D)2,3,1



153.

154.

155.

156.

(E) eflemL Qs flwelsvensy

In which year E.V. Ramasamy became the Chairman of Erode Municipality?

(A) 1907 (B) 1909 (C) 1917 (D) 1919

(E) Answer not known

6THS QUBLLD F.Ceu.@umuamdl FEIm(®H BT TLFRUNT Hemevel s G (BHSTH?
(A) 1907 (B) 1909 (C) 1917 (D) 1919

(E) allemL s flwelevemey

Pocket money received by 7 students is given below.
$42,¥22,740,726,123,728,343

Find the median.

(A)¥26 (B)Y¥ 23 (C)¥28 (D)¥22
(E) Answer not known

gw LD IT600T6U [ 85 61T Feorg QEFvMH&TH GUITMHIG W LI600T LD G i)
Q&EMTH&HSLILL(H6TeTS?

¥42,122,¥40,126,123,128,343

@ UMM @)6MLBl6mI6VLIGTEN6UE &5T6U0TS.

(A)¥26 (B)¥23 (C)¥28 (D)¥22
(E) allemL s flwelevemev

The range of the first 10 prime numbers is

(A) 28 (B) 26 (© 29 (D) 27
(E) Answer not known

(P&6L 10 LIS eTevorgserfleir efd &

(A) 28 (B) 26 (© 29 (D) 27
(E) allemL s flwelevemey

The students of a class donated ¥ 4624 for Chief Minister’s State Relief Fund. Each
student donated as many rupees as the number of students in the class. Find the number
of students in the class

(A) 64 (B) 68 (C) 62 (D) 78

(E) Answer not known

@@ QUGLILN6L 2 6TeT LDMETTaUT&H6T €1H.46246m U (LN&HEVEMIDFFIfl6T DMHBl6V Hleu T yevor
BIHUWTE QFNGHTT. @6IQ6ITIH DML HeTdl LIBISTES HeTdl eU@GLiLle
D 6IT6T  LDMEUOTEUT&H6IT160T  6T6voT600 | H6M&BHEG  FLOMTET QEHTeNGHNUL Q& T(H & 60T
61601160 6UGLILN6L 2_6ITEIT LOMETOT T &6IT 6785860607 GLIF?



157.

158.

159.

160.

161.

(A) 64 (B) 68 (C) 62 (D) 78
(E) eflemL Qs flwelsvensy

The average height of 10 students in a class was calculated as 150 cm. On verification it
was found that one reading was wrongly recorded as 130 cm instead of 140 cm. Find the
correct mean height.

(A) 150 cm (B) 152 cm (©) 153 cm (D) 151 cm

(E) Answer not known

@M auGLLNev o26T1em 10 wWmeoteunsefledr Fpmafl 2wy 150 Q&F.LS. 6Ters
SHOTEHHLLILLLG. FflUTISHGLD GUME! 140 Q&F.15. 6T6dTLIEN S 130 Q& .LS. 6T60T &6 MmITeoT
TS QSTaTETLILUL LSS Q5Flwelbs sl Fiflumer FrmaFifl 2 Wyl &mesors.

(A) 150 Q&.185. (B) 152 Q&.15. (C) 153 Q&.L85. (D) 151 Q&.185.

(E) allemL s flwelevemey

What is mean of all two digit numbers?

(A) 54.5 (B) 49.5 (©) 455 (D) 44.5
(E) Answer not known

eSS Fiflevd: o eTevordserfleor &Fmaif] eTedTeor?

(A) 54.5 (B) 49.5 (© 455 (D) 44.5

(E) allemL s flwelevemev

If ax2 — 28x + 49 = 0 has equal roots. Then the value of a is

(A)1 (B) 2 (K] D) 4

(E) Answer not known

ax2 — 28X + 49 = O eT6dTM FLOETLIML_LQ60T LGV BIGHET FLOLD 6T60f 16V a6dT LD LIL]
(A)1 (B) 2 (K] (D) 4

(E) allemL s flwelevemey

Find the median of the data. 12, 14, 25, 23, 18, 17, 24, 20

(A) 23 (B) 18 O 17 (D) 19

(E) Answer not known

12, 14, 25, 23, 18, 17, 24, 20 eTedoTm eleumIg 66T @) 6mL Blemeveniss & TeooTss.
(A) 23 (B) 18 © 17 (D) 19

(E) ellemL s flwelevemev

In a two digit number the digit in the unit place is twice of the digit in the tenth place.
If the digits are reversed, the new number is 27 more than the given number. Find the
number



162.

163.

164.

(A) 63 (B) 36 (©) o3 (D) 39

(E) Answer not known

@ FIfleu&:a 6T6e0oT6E00T16D, REITMITID @)L @)6V&H & 6T600T, LIGSITID @)L )6V 6T600T6M 600T L
GUIT6L @) (H LOLMBISGTSH 2_6TTSl. @ 6VE8GMBIG6T @ L LD IDmmlerme SlenL & @& LS W
6T600T QBT SSHLILIL L eTevoremevorel 27 SIH & LD eTeoflev QEBEMTHI&HSLILLL Fiflevdhss
6T600T6M 600T 8> &5600T (H) LI119.8555.

(A) 63 (B) 36 (© 93 (D) 39

(E) allemL s flwelevemev

The population of a village is 32,000. 40% of them are men. 25% of them are women
and the rest are children. Find the number of men and children

(A) 12200 men, 11800 children

(B) 12800 men, 11200 children

(C) 12220 men, 12200 children

(D) 12200 men, 11200 children

(E) Answer not known

R PITDSH 6T In&S6T Q&Tems 32,000 2_6Temerh. jeUlserfle 40% 2u,600T&H6iT, 25%
QUEOTEH6T, WIGHID 2 6TCEMTT GHLLHNSHHET JLE00THET DMHMID G L0150 S 86T 60T
6T6U0T 6001 85 60) 8560 LI &> &5 T600T 5.

(A) 12200 94,600T&H6iT, 11800 & LLIHEM & & 6T

(B) 12800 &1,600T&6iT, 11200 G L0560 & &H6IT

(C) 12220 &4,600T&H6IT, 12200 & LPHED & & 6T

(D) 12200 &4,600T&6iT, 11200 & L1560 S 86T

(E) allemL s flwelevemey

Find the greatest number of four digits exactly divisible by 15, 21 and 27.

(A) 9999 (B) 9450 (C) 9845 (D) 8505

(E) Answer not known

15, 21 LDMHMILD 27 QL& eLN6ETTMI eTevoTSET e LG ulledT M) eu@G LI W& LG L Flw
HITEOTS @ 6VESH @)UI6V 6T600T 6TSI?

(A) 9999 (B) 9450 (C) 9845 (D) 8505

(E) ellemL s flwelevemev

The GCD and LCM of two polynomials are x + 1 and x4 — 1 respectively. If one of the
polynomials is x2 + 1, find other one

(A)x3—1 B)(x+1)(x2—-1)

O x2+x-1 D)x2—x+1

(E) Answer not known



165.

166.

167.

168.

@M LILIMILILE CahTemausserle LS.QILUIM.6l LoMMILD L§.QLIT.L0 (PemmGEUW X + 1 LDMHMILD

X4 — 1 GOaIID 6(H LIVSMILILISGCSTem6 X2 + 1 6T60T 16D, LDMGMTETEmN M & &5 T600TS.

(A)x3—1
O x2+x-1
(E) eflevL Qs flueievemney

Find the Highest Common Factor of 4p2q3r, 8p3q2r2, 16p2q4r3
(B) 4p>q>r

(A) 4p2qr3
(E) Answer not known

UL QUTSINGSH &TetoTd:. 4p2q3r, 8p3q2r2, 16p2q4r3
(B) 4p>gr

(A) 4p2q4r3
(E) allemL s flwelevemey

Simplify the following g + 2%
(A)x2—2x+4

O x2—2x-4

(E) Answer not known

FHHS . x% + %
(A)x2—2x+4
C)x2—2x-4

(E) allemL s flwelevemey
1

Simplify mT1 + +

m+1  m2-1

(A) m? (B) ™

(E) Answer not known

. m 1 m
GG . m +

+1 m+1 m2-1

(A) m? (B)
(E) ellemL s flwealevemev

If 3a + 4b = 22, 8a — 5b = -4, then the value of (a +b)2="?

(A) 36 (B) 72
(E) Answer not known

3a + 4b = 22, 8a — 5b = 46T LG I WMTSH?

(A) 36 (B) 72
(E) allemL s flwelevemey

B)x+1)x2-1)
D)x2—x+1

(C) 4p2q3r

(C) 4p2q3r

(B)x2+2x + 4
(D)x2+2x-4

(B)x2+2x+4
(D)x2+2x-4

©)—

©)—

(C) 25

(C) 25

(D) 16p>q#r3

(D) 16p2qg4r3

(D)

(D) 2=

(D) 49

(D) 49



169. I have a box which has 3 green, 9 blue, 4 yellow, 8 orange coloured cubes in it.

(a) What is the ratio of orange to yellow cubes?

(b) What is the ratio of green to blue cubes?

(c) How many different ratios can be formed, when you compare each colour to any
one of the other colours?

@ M (o
(A) 3:1 1:2 10 ratios
(B) 1:3 2:1 4 ratios
© 1:2 3:1 12 ratios

(D) 2:1 1:3 12ratios

(E) Answer not known

6T60T60f 1L (LD EITET (1 QLIL_IQUT6L 3 LIFem&, 9 HeVLD, 4 LDEHE6T, 8 LT EHS 6T60T 24

6L GUOTEU0T S B560TFF TSI RIG6IT 2_6IT6IT60T. 6T60T16L

(a) @TEHha IDMMILD LDEHF 6T HeoTEFF ST IS 6r 60T & GLD 6T6oT60T ?

(b) usFemE LHMID Bevld HeTFFSITmIG6 6T NS GLD eTeoT60T?

(¢) (b eueTITETIT&H6MS LOMM eUetoTeooT IS CETT(H LILIL (B 6T& S 60 60T 615 & M1 & 61T
&HIT6O0T6LITLD?

@ M (o
(A) 3:1 1:2 10 ratios
(B) 1:3 2:1 4 ratios
© 1:2 3:1 12 ratios
(D) 2:1 1:3 12 ratios

(E) allemL s flwelevemey

170. A troop has provisions for 276 soldiers for 20 days. How many soldiers leave the troop

171.

so that the provisions may last for 46 days.

(A) 136 (B) 156 (C) 146 (D) 164

(E) Answer not known

276 eI J&H6T 2_6TeT 6 LILLMemGSH 6V 20 BT 5658 GHS CHemalUlTeT &FemLolle)
QIUIMTH6TEET 2_6TeMSl. 3|HSHLI QUITIHETHET 46 BTETHEHSHG B985 Gereor(h 6 Lneofley
6155 6m60T I F&H6T @HSLILLL TGS L (H& Q&F6v6v Galetor(HILD?

(A) 136 (B) 156 (C) 146 (D) 164

(E) allemL s flwelevemey

Using clay, a student made a right circular cone of height 48 cm and base radius 12
cm. Another student reshapes it in the form of sphere. Find the radius of the sphere.
(A)12cm (B)15cm (C)g9cm (D) 14 cm

(E) Answer not known



172.

173.

174.

175.

Serflneooremevor Ll LIWeTLI(H &S 62(H LOMeooTel6dT 48 Q&LS 2 wWrepld 12 Q&L Lol
Q&meooTL GBI QUL L HetoTlng FalDeLF QFUWISTH. 3|88 D60l LDMQMITIH LOT6I0TeU [
@ Hevorlng GSHMETLOMS WMMMIETTH. Sjelaummi ImMMLUILILL LW Csmerms S 6or

AU THNHEH HITEO0TS.

(A) 12 cm (B)15cm (C)9cm (D) 14 cm

(E) allemL s flwelevemey

The radius of a spherical balloon increases from 3 cm to 9 cm as air is being pumped
into it. Find the ratio of volumes of the balloon in the two cases.

(A) 1:3 (B) 1:9 (C) 1:27 (D) 1:8

(E) Answer not known

3 Q&F.15 9D Q& MevorL CoITT aUlgal-LIsVTen el STHM QFSSLILIHLWD CUMSI
ST QT 9 QF.15 98 H & HHT, euell( Blenevderfley Lisvmentlesr & eor
emeys6rfletr a5 & 560058 85TEvoT .

(A) 1:3 (B) 1:9 (C) 1:27 (D) 1:8

(E) allemL s flwelevemey

If the circle with diameter 4 c¢m is inside of the circle with radius 10 ecm. Then the
Maximum possible distance between the centres is

(A) 6 (B)7 )8 D)9

(E) Answer not known

4 cm Nl LGend Q&Meoor el L LD 10 cm QL J(6mL W el L SHenl6r 2 6Tem GLMSI
@)\(H MLDUIMIGHEHSHES @6 G @) (HEHSH @UINILD H&LLE ST 6T6oT60r?

(A) 6 (B)7 (©)8 (D)9

(E) allemL s flwelevemey

What is the half of the area of the triangle whose vertices are (1, 1), (3, 1), (1, 3) ?
A1 (B) 2 © 4 (D)5

(E) Answer not known

@) (WNE&CSHTeTS S 6T (LnemeTsaT (1, 1), (3, 1), (1, 3) eTevflev & 60T LIFLILIeTaN6L LITS)
& IT600TS

(A1 (B) 2 ©) 4 (D)5

(E) allemL s flwelevemey

A silver wire when bent in the form of a square encloses an area of 484 sqm. If the

same wire is bent in the form of a circle, then find the diameter of the circle. (use n %)



(A)14m (B) 25 m (C)24m (D) 7m

(E) Answer not known

@ Qalerefle &L euemeTdH &L () FSTLOMSE WTHMILN CLUITS. 3|5 60TV
e UGB UGS uller LTLL 484 &.15. 9185 Geu6Terfld &LNemwl Ul L LTS
QUMETESLILIMGH MG 6T6vfleL aul L &F 60T el L LD eTedreor? (1t % 6T6OTEQ B M6 )
(A) 14 8 (B) 25 1§ (C) 24 1§ (D) 7.8

(E) allemL s flwelevemey

176. In how much time will a sum of ¥1600 amount to + 1852.20 at 5% per annum
compound interest.
(A) 2 years (B) 3 years (C) 4 years (D) 5 years
(E) Answer not known
1600 960181 5% 2,600T(H Fol (B QUL_LY 6FFHLD Q&Te0oT(h 615560607 23,6007 (h & 6rfl6L
1852.20 9,&0?
(A) 2 aye00r(H) &I (B) 3 ewetor@&eT  (C) 4 speoor(h&mer (D) 5 pevor(h)&6T
(E) eflevL Qs flueievemney

177. If 123 represents "GOD", 456 represents "CAT", Then "DOG EAT EGG" may be
represented by
(A) 321 456 411 (B) 321756 811 (C) 321 856 911 (D) 321756 711
(E) Answer not known
123, eteorIgl "GOD" eredTLIem B W LD 456 eteaTLIg "CAT" etedtLem FH W LD GMISHHTeL "DOG
EAT EGG" e160TLIG) 6756016V (& M85 L1 6VITLD
(A) 321 456 411 (B) 321756 811 (C) 321 856 911 (D) 321756 711
(E) allemL s flwelevemey

178. Find the number of 3 digit natural numbers which are divisible by 6
(A) 151 (B) 150 (C) 152 (D) 149
(E) Answer not known
6 L6V QUGLILE Falqll 3 ©)6V5:5 G)UI6V 6T600TS:6rT160T 6T600T600 186085 & IT6UOTS:
(A) 151 (B) 150 (C) 152 (D) 149
(E) allemL s flwelevemey

179. What is the probability that a leap year selected at random will contain 53 Sundays?
(a2 (B)> ) (D)2

(E) Answer not known



180.

181.

FLaUTWLIL enmuilel CEIHOSH &SI 651 U@L LD 53 @Tulmmis
G LML G0 6T Q& TevoT(h) @) (H& S BlHLDSEH6| WS ?

QO ®)2 ©* )2
(E) eflemL Qs flwelsvensy

Which among the followings are the major reasons for driving out sourcing?
1.Technological innovation.

2. Economic emergence of developing nations.

3.The knowledge based economy.

4. Favourable balance of payment.

Select correct answer from the codes given below.

(A)1and 2 (B) 4 and 2

(C)1,2and 3 (D)1,3and 4

(E) Answer not known

GECp ML LU G 6Temeneuderley Gauerf] QL& mImigGeneT @)W LILIg M8 meor
(&SI &IT[T600T BI85 6T

1. @ mdlev BIL LI &evor(HILIIG LIL &6,

2. QUETHLD BT &L QUITIHETTSTY (LN6STCeoTMMLD.

3. 9Mle] EMIHS QUITHETTSTTLD.

4. FN5 5 UM | LIE GLDBlemev.

Guibh seflev @@mbal siflwmer ellemLemul Q5le] QFUIs%

(A) 1 mHmid 2 (B) 4 nmmib 2

(C)1, 2 oD 3 (D) 1, 3 LDOYILD 4

(E) eflenL Qaflweillsvemey

Which of the following factors influence digitalisation in banking sector?

1. Changing consumer behavior.

2. Financial inclusion and government initiation.

3. Increased smart phone usage.

(A)1and 2 (B)2and 3 (G 1and3g (D)1,2and 3
(E) Answer not known

LY edTeumeueoTeuMMIET eUmBIS Slemnmullemeot LoleoTeoTenlLILI(H & SIS M &8 & ITIT600T L0 60T
SITJeool186T WTemeu?

1. B&FCaMfler LI &HemaUulley LOMmISev.

2. BIHUIN6L 2 _aTerTL_ G & IMHMILD SITF 6T WM.

3. 9T & slarailev &HIMTTL m&HCLES LWeTLGH &HSIH6V.

Glluih seflev @umbal FiflwmeT allemLamul Q5fle) Q&uls.



182.

183.

184.

(A) 1 LHoILD 2 (B) 2 nmmuib 3
(C) 1 Haud 3 (D) 1,2 ommud 3

NITI Aayog Launched, 'Atal New India Challenge' program on April 26, 2018. This
initiatives is related to

1. To design and demonstrate market ready products based on cutting-edge
technologies.

2. To provide grants upto Rs. 1 Crore.

3. Related to Agriculture and industrial sectors any.

Select correct answer using the code given below

(A)1and 2 (B)1and 3 (C)2and 3 (D) 1 only

(E) Answer not known

gLITeL 26 2018 IjeTMI B W CWITEH 'SIL6L UG W @HHWIT FaUTeLSH 6T 6T60TM

G LGS (N &HLD QFWLISS. @S5H L LD GaumCmm(h QSTLILeML WS

1.2 WJ QsTH6L BILLISSIL 6T Salqll FHenSLILMOSS SWITTTES 2_6T6T GLIMTIHL 8606
allgeImNG G elemd: &5 6v.

2. epUMU 1 GSHIMIY euem T BIFH U He.

3. GauaTmevoremLln LDMHMILD QSTIPMHSInMBWTH LG QSTLTL 6L WIS
GlWih seflev @ambg Fiflwmer allenLemwl Qe Q&uls.

(A) 1 mHmILD 2 (B) 1 ommib 3 (C) 2 npmib 3 (D) 1 b (1D
(E) ellemL s flwelevemey

Cord Blood Banks located at in Tamil Nadu.
(A) Chennai (B) Coimbatore
(C) Madurai (D) Trichy

(E) Answer not known

QBTLIL6T Q&MY TH555 CailliL aubi® SLOlNGSH 6V 61MHIG | 6MLDH ST
(A) Q& eoTevI 60T (B) GmmwilbLs sy

(C) ngieny (D) 8GR

(E) ellemL s flwealevemev

Jal Kranti Abhiyan was not launched in the following Indian cities

(A) Raipur (B) Jaipur (C) Shimla (D) Jhansi
(E) Answer not known

'060 BTMTHSH LIWmeT' S LD @HEHWmelley LNeTaupld 6ThHS TS H 60
LGS LILLN606m6v

(A) gy (B) gy (C) edlibeurr (D) grer&
(E) allemL s flwelevemey



185.

186.

187.

Consider the following statement.

50% of the India's poor people live in following states.

1. Uttar Pradesh, Bihar, Madhya Pradesh and Jharkhand.

2. Goa, Karnataka, Andhra Pradesh and Jharkhand.

3. Bihar, Gujarat, Himachel Pradesh and Jammu.

4. Kerala, Sikkim, Arunachel Pradesh and Bihar.

Which one of the above is/are correct?

(A) 1 only (B)2and 3 (C) 4 only (D)1and 4

(E) Answer not known

BLDGHE00TL QUMTEHS WG MG 5561 60T1]

@BHWTallev 50.0 FH6TE genLp IDGHEHET GHLDGE00TL DMHl6VMHIS 6 eUTLSRMTISET.
1. 2 587 reseid, Lfamy, usHw LFCsHFID IDMMILD SQMTITE600TL .

2. G&MaU, &FBTL&D, HHT LNTCHFID LoMMILD M e6v0rL

3. Samny, &xrns, @urge LNyGsFd InMmmild gwp.

4. Go&yemm, FE&EH D, e LNFCHFID nmMmID LTammiy.

GG Q&EMR&SLILLR6TaTeumlev eTemeu(86T) Fiflulmers

(A) 1 L@ (B) 2 nmoib 3 (C) 4 LLEWD (D) 1 b 4
(E) allemL s flwelevemey

The Urban Heat island effect is due to

1. Concrete floor in Urban area.

2. Low moisture content in the soil.

3. High wind velocity.

4. High rainfall.

Which one of the above is/are correct?

(A)1and 4 (B)1and 2 (C)1,2and 3 (D) 4 only
(E) Answer not known

"B&T Qeliug §al" gHLOUSDG

1. &I WIS STeT& L L TeVMeoT 851960 GLOMLITLIL]

2. LD6DOT600T 63T (& 6MMEUTEOT FFFLILIG L.

3. 9T & &THMl6eT CaussLn.

4. 9195 enpll QuUTdley.

GG Q&MH&HELILLLeneuserle eremel(&HeT) Fiflumers

(A) 1 HmILD 4 (B) 1 nmmiib 2 O 1.2 bHmID 3 (D) 4 b (b
(E) ellemL s flwealevemev

The first language declared as the classical language in India is



(A) Kannada (B) Telugu (C) Oriya (D) Tamil
(E) Answer not known

@B Wl QELWMPAWTs AMleNsE&ILLL WNH6L Gomgl

(A) setTeurL LD (B) Opmi® (C) erflwum (D) s1dlip

188. The headquarters of the Interpol is situated in
(A) Vienna (B) Lyon
(C) Washington (D) Geneva
(E) Answer not known
FIaUCHEF SHITEU6 SIMMUIGEHE T 6T, (@6TLFCLITEV) SH6meVemLDUWISLD 60D [HSI6T6rT

QLD
(A) ellwedreorm (B) eS1@uwiTedT
(C) auradriL_edt (D) ogesfleur

(E) eflemL Qs flwelevensy

189. The book 'My Presidential Years' is written by
(A) K.R. Narayanan
(B) Giani Zail Singh
(C) S.D. Sharma
(D) R. Venkataraman
(E) Answer not known
'sin LNgenSlQ e adlulsh @uiFen’ eTedTm HTedlemeor eT( & w6y
(A) G&.9L1. IBITITITUI600TE0T
(B) @ wimenfl Qieguilev &\l
(C) etonv.19..0Q FLOT
(D) @LJ. Q6eumISLIFTLO60T
(E) allemL s flwelevemey

190. In which year "National Award to Teachers" was instituted?
(A) 1960 (B) 1958 (C) 1959 (D) 1962
(E) Answer not known
"R WLTHEH5E T CHAW l[BEl” 6THS 3L,600TI60 TINLNG&SLILL L SI?
(A) 1960 (B) 1958 (C) 1959 (D) 1962
(E) allemL s flwelevemey

191. Pandit Deendayal Upadhyay National Welfare fund assisting to whom?
(A) Outstanding Research Scholars
(B) Outstanding Writters



(C Outstanding Sports Persons

(D) Outstanding Farmers

(E) Answer not known

LieooTlq L SeT&HUWmeT 2 LMSHWmu CHFW Hev 2 G0 &5 Tend WMTIHEH G
QUPBISLILQSMS?

(A) OnH gl elleTmIGLD QT TUFRWTETISHEHSH G

(B) ®mb& efleThiGLD eTWES TN T8 Eh5 S

(C) Fmiba allemmiG L ellememrwml_(h efTF&HEHH G

(D) Appg alleThiGLD aleusFmuilsErs S

(E) ellemL s flwelevemey

192. What is the purpose of Gaganyaan project reveals by ISRO?
(A) Three Indians would be sent to space
(B) Communication development
(C) Protection to fishermen including assistance to them
(D) Assisting customs in anti-smuggling operations
(E) Answer not known
@6vCI T QeuefllILBSH 6T "8 & 60TUITET HIL_LSH 60" CHMTESHLD 6T6oTe0r?
(A) eLpetTm LneoflBF&Hemer elevorQlelefle @ (el 560
(B) 356160 Q&ML
(C) WeoTouFsHemeT LIMSISTLILG IDMHMILD 36U F&HEHE&STer 2 &al eflliug
(D) s6T6m885L8556m6v HH\LILSMSETET QF W6 (Wenmsaeflsy 2 galwims @ mLILg!
(E) eflem Qs fluieilevemey

193. Which of the following group constituted the State Reorganisation Commission?
(A) Pannikkar, Fazl Ali, Katju
(B) Fazl Ali, Pannikkar, Kunzru
(C) Dhar, Fazl Ali, Pannikkar
(D) Kunzru, Katju, Dhar
(E) Answer not known
LOMTBl6VMEIGHET B{eMLOLIL| 2L6M6ToTILISH L @)L LD QLIMM G T8 ?
(A) uenll&aT, &L 6, &L &
(B) &L12260 o160, LIetofl&:81T, & 60T6rV([H
(©) 51T, LN 3169, Letoll&HaT
(D) Gemev, &8, &I
(E) allemL s flwelevemey



194.

195.

196.

197.

How many states in India have achieved 100% Household electrification?

(A) 10 States (B) 12 States (C) 13 States. (D) 15 States
(E) Answer not known

@S W mellev 6Tdh & ement LOMBleumIG6flel 100% 65(H\&EH &G 6T aUFH)

gOUMBSSLILIL(he6Terg?
(A) 10 LOMBlEVMBIGET (B) 12 InmBlevmiS 6T
(C) 13 TBleVBILH 6T (D) 15 WommBlevBIG 6T

(E) eflemL Qs flwelcvensy

Who is the head of the three-members Lokayukta search committee?
(A) Thiru. K. Venkatraman

(B) Thiru. K. Chanduru

(C) Thiru. M.K. Krishnamoorthy

(D) Thiru. A. Raja

(E) Answer not known

eneoTm GUIT Q&metor GeuTeH LU &S T-al6iT CH(HSH6V (LD SHEM6eVeUF WIMy?
(A) 9. K. QeaumbisL et

(B) @®.K. shai®

(O) 8®. M.K. ®@meqemreniss

(D) 8®.A. prgm

(E) ellemL Q& flueilsvemney

For which country Prime Minister of India announced Rs. 4,500 crore for hydropower
projects 2018?
(A) Nepal (B) Pakistan (OC) Bhutan (D) Sri Lanka
(E) Answer not known
eTHS BITLIYMHGS QBEH W LNT&0 BEH I HeUTSHET eh. 4.500 G&Mg. BT Loleor
G LBISHEHE5MS LkIGLILSTS 2018-60 9nflell&H T
(A) GmumerTLd (B) um&evgmeot (C) wLmeor (D) @evmien &
(E) allemL s flwelevemey

Which statue is called as "Statue of unity"?
(A) Statue of Liberty

(B) Statue of Mahatma Gandhi

(C) Statue of Sardar Vallabhai Patel
(D) Statue of A.P.J. Abdul Kalam



198.

199.

200.

(E) Answer not known

WITem L Flemev, @mmiemnuiet Fleneuwlmil &BSLILOSRMmS?
(A) 5B 15T 6 Flemey

(B) n&smsnm srbSH uiler &enev

(C) sismr eusveuLImul LIGL 69 6T Hlemev

(D) g.1.68. 9jLiglev seurleT &Femev

Which scheme is a placement linked skill training programme to empower rural poor
youth?

(A) Pradhan Mantri Awaas Yojana - Gramin

(B) Pradhan Mantri Yuva Udyami Vikas Abhiyan

(C) Deen Dayal Upadhyaya Grameen Kaushalya Yojana

(D) Deen Dayal Yuva Vikas Abhiyan

(E) Answer not known

ST m @ emerTehsserfler Gausmey aumlLIL &8 TeT Hmenn LIWIHEFSR sjeflliLg
6THS HIL_LLD?

(A) Npsmer HH ] apeumerv GuimegeotT - S\ mLdleor

(B) Ygsmer BHH K wWeum 2 gwdl eflsmerv Ll mest

(C) ®etr HWIMeL 2 LIMGWIMTW SImLdledr Q&emagevll GUlTeg6orT

(D) et Hwimev Wjeurm eNlssmeny Llulmesr

Doklam Standoff is related between the countries of
(A) India - China

(B) India — Bhutan

(C) India — Tibet

(D) India — Nepal

(E) Answer not known

“GLm&eurmd LNpggement” QGMLFL 6L BTHSH6T .
(A) @b wm — Eeorir

(B) @b&wIm - Ll L_medr

O @pswr - Haug

(D) @b®wm-GmuUmeTLD

(E) ellemL s flwealevemev

Jagjit Singh Vs. State of Haryana (2007) is the case related to
(A) Electoral Reform

(B) Election Commission

(C) Members (MLA's, MP's) support from outside



(D) Criminalisation of politics

Q&3 & M Vs. amiflumerm IoMBlev 908 (2007) QUGG SIL 60T
QEHTLIYmLWSI

(A) Gaiz6L FIHBGSSLD

(B) G756V 2y,6m600TWLILD

(©) e—miiNeorgsser, (MLA's, MP's) Qeueflullev @b 94576 &(H&H 6V
(D) 9irfwev GmHmeumerflaeTnulDTg eV

(E) eflevL Qs flueievemney



